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SECTION – I
IÊS> – I

CHILD DEVELOPMENT AND PEDAGOGY
~mb {dH$mg Ed§ {ejU {d{Y`m±

There are 30 questions in all in this Section.
All questions are compulsory.

Bg IÊS> _| Hw$b 30 àíZ h¢ &
g^r àíZ A{Zdm`© h¢ &

 1. What is the primary structure of a concept map ?
 (A) Chapters and sub-chapters (B) Labeled nodes and connecting lines
 (C) Images and animations (D) Timelines and events

  H$m°ÝgoßQ> _¡n H$s àmW{_H$ g§aMZm Š`m h¡ ?
 (A) AÜ`m` Am¡a Cn-AÜ`m` (B) bo~b dmbo ZmoS²>g Am¡a H$ZopŠQ>¨J bmBÝg
 (C) {MÌ Am¡a EZr_oeZ   (D) g_`-aoImE§ Am¡a KQ>ZmE§

 2. What does the process of adjustment primarily aim to achieve ?
 (A) Achieving harmony between self and environment
 (B) Meeting only biological needs
 (C) Ignoring societal demands
 (D) Fulfi lling all desires without constraints

  g_m`moOZ H$s à{H«$`m _w»` ê$n go {H$go àmßV H$aZo H$m à`mg H$aVr h¡ ?
 (A) ñd Am¡a n`m©daU Ho$ ~rM gm_§Oñ` ñWm{nV H$aZm
 (B) Ho$db O¡{dH$ Amdí`H$VmAm| H$mo nyam H$aZm
 (C) gm_m{OH$ _m§Jm| H$s AZXoIr H$aZm
 (D) {~Zm {H$gr à{V~§Y Ho$ g^r BÀN>mAm| H$mo nyam H$aZm

 3. According to Piaget’s stages of cognitive development, during which stage children 
develop object permanence ?

 (A) Pre-operational stage (B) Sensorimotor stage
 (C) Concrete operational stage (D) Formal operational stage

  {n`mOo Ho$ g§kmZmË_H$ {dH$mg Ho$ MaUm| Ho$ AZwgma, ~ÀMoo {H$g MaU _| dñVw ñWm{`Ëd {dH${gV H$aVo h¡ ?

 (A) àmH$-g§{H«$`mË_H$ MaU (B) g§doXr_moQ>a MaU

 (C) _yV© g§{H«$`mË_H$ MaU  (D) Am¡nMm[aH$ g§{H«$`mË_H$ MaU

  {n`mOo Ho$ g§kmZmË_H$ {dH$mg Ho$ MaUm| Ho$ AZwgma, ~ÀMoo {H$g MaU _| dñVw ñWm{`Ëd {dH${gV H$aVo h¡ ?
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4. What does the term “Temperament” refer to in personality ?

 (A) Physical appearance of an individual
 (B) Emotional and aff ective tendencies
 (C) Moral values and character
 (D) Cognitive abilities

  ì`{º$Ëd Ho$ g§X^© _| “ñd^md” (Temperament) {H$go g§X{^©V H$aVm h¡ ?
(A) ì`{º$ H$s emar[aH$ CnpñW{V
(B) ^mdZmË_H$ Am¡a g§doJmË_H$ àd¥{Îm`m±
(C) Z¡{VH$ _yë` Am¡a M[aÌ
(D) g§kmZmË_H$ A{^j_VmE±

5. Which statistical test is commonly used for data analysis in action research ?
 (A) Correlated t-test (paired t-test) (B) Independent t-test
 (C) Chi-square test   (D) Regression analysis

  {H«$`mË_H$ AZwg§YmZ _| S>oQ>m {díbofU Ho$ {bE H$m¡Z-gm gm§p»`H$s` narjU Am_Vm¡a na Cn`moJ {H$`m 
OmVm h¡ ?
(A) ghg§~§Y Q>r-narjU   (B) ñdVÝÌ Q>r-narjU
(C) H$mB©-dJ© narjU   (D) à{VJ_Z {díbofU

6. What is the fi rst stage in the development of creativity ?
 (A) Stage of incubation (B) Stage of illumination
 (C) Stage of revision   (D) Stage of preparation

  aMZmË_H$Vm Ho$ {dH$mg _| nhbm MaU H$m¡Z-gm h¡ ?
(A) Cî_m`Z H$m MaU   (B) à~moYZ H$m MaU
(C) nwZarjU H$m MaU   (D) V¡`mar H$m MaU

7. How does a child initially express emotions through language ?
 (A) Through vowels and consonants (B) Through full sentences
 (C) By crying and sounds (D) By pointing to an objects

  ~ÀMm ewéAmV _| AnZr ^mdZmAm| H$mo ^mfm Ho$ _mÜ`_ go H¡$go ì`º$ H$aVm h¡ ?
(A) ñda Am¡a ì`§OZ Ho$ _mÜ`_ go (B) nyU© dmŠ`m| Ho$ _mÜ`_ go
(C) amoZo Am¡a Üd{Z`m| Ho$ _mÜ`_ go (D) dñVwAm| H$s Amoa Bemam H$aHo$
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8. What does fl uid intelligence refer to in Cattell’s theory ?
 (A) The ability to use knowledge from past experiences
 (B) Emotional regulation and social skill
 (C) The ability to analyze verbal tasks
 (D) The capacity to solve new problems without relying on prior knowledge

  H¡$Q>b Ho$ {gÕmÝV _| âbyBS> ~w{Õ_Vm {H$ggo g§~§{YV h¡ ?
(A) {nN>bo AZw^dm| go kmZ H$m Cn`moJ H$aZo H$s j_Vm
(B) ^mdZmË_H$ {d{Z`_Z Am¡a gm_m{OH$ H$m¡eb
(C) _m¡{IH$ H$m`m] H$m {díbofU H$aZo H$s j_Vm
(D) {~Zm nyd© kmZ na {Z^©aVm Ho$ ZB© g_ñ`mAm| H$mo hb H$aZo H$s j_Vm

9. Which motivation theory focuses on setting clear and specifi c objectives to enhance 
performance ?

 (A) Need Hierarchy theory 

 (B) Attribution theory

 (C) Reinforcement theory 

 (D) Goal setting theory

  H$m¡Z-gm A{^àoaUm {gÕmÝV àXe©Z ~‹T>mZo Ho$ {bE ñnîQ> Am¡a {d{eîQ> CÔoí`m| Ho$ {ZYm©aU na Ho$pÝÐV h¡ ?
 (A) Amdí`H$Vm nXmZwH«$_ {gÕmÝV 

(B) JwUmamonU {gÕmÝV
(C) nwZ~©bZ {gÕmÝV   
(D) bú` {ZYm©aU {gÕmÝV

10. What is the common cause of cerebral palsy ?
 (A) Brain damage before or during birth
 (B) Genetic disorders
 (C) Poor nutrition
 (D) Environmental factors

  _pñVîH$ njmKmV H$m gm_mÝ` H$maU Š`m h¡ ?

(A) OÝ_ go nhbo `m OÝ_ Ho$ Xm¡amZ _pñVîH$ H$s j{V
(B) AmZwd§{eH$ {dH$ma
(C) Iam~ nmofU
(D) n`m©daUr` H$maH$
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11. According to Kohlbergs stages of moral development, which stage focuses on individual 
rights and universal principles of justice ?

 (A) Obedience orientation (B) Social contract orientation
 (C) law and order orientation (D) Universal ethical principles orientation

  H$moë~J© Ho$ Z¡{VH$ {dH$mg Ho$ MaUm| Ho$ AZwgma, H$m¡Z-gm MaU ì`{º$JV A{YH$mam| Am¡a Ý`m` Ho$ 
gmd©^m¡{_H$ {gÕmÝVm| na Ho$pÝÐV h¡ ?

 (A) AmkmnmbZ A{^{dÝ`mg (B) gm_m{OH$ AZw~ÝY A{^{dÝ`mg
(C) H$mZyZ Am¡a ì`dñWm A{^{dÝ`mg (D) gmd©^m¡{_H$ Z¡{VH$ {gÕmÝV A{^{dÝ`mg

12. What is a conceptual dilemma faced by teachers in constructivist practices ?
 (A) How to manage classroom discussions
 (B) Reconciling beliefs about pedagogy with constructivist principles
 (C) Understanding cultural background of students
 (D) Addressing accountability with stakeholders

  aMZmdmXr {ejU Aä`mg _| {ejH$m| Ûmam gm_Zm H$s OmZo dmbr d¡Mm[aH$ Xþ{dYm Š`m h¡ ?
(A) H$jm MMm©Am| H$m à~§YZ H¡$go H$a|
(B) {ejUemñÌ Ho$ {dídmgm| H$mo aMZmdmXr {gÕmÝVm| Ho$ gmW gm_§Oñ` ~ZmZm
(C) N>mÌm| H$s gm§ñH¥${VH$ n¥îR>^y{_ H$mo g_PZm
(D) {hVYmaH$m| Ho$ gmW CÎmaXm{`Îd H$mo g§~mo{YV H$aZm

13. Which intelligence type involves understanding one’s own feeling and motives ?
 (A) Interpersonal intelligence (B) Intrapersonal intelligence
 (C) Spatial intelligence (D) logical intelligence

  ~w{Õ_Vm H$m H$m¡Z-gm àH$ma ì`{º$ H$s ñd`§ H$s ^mdZmAm| Am¡a CÔoí`m| H$mo g_PZo go g§~§{YV h¡ ?
(A) A§Vd£`pŠVH$ ~w{Õ_Vm  (B) AÝV:d¡`pŠVH$ ~w{Õ_Vm
(C) ñWm{ZH$ ~w{Õ_Vm   (D) Vm{H©$H$ ~w{Õ_Vm

14. Which principle of development suggests that development is a continuous process from 
conception to death ?

 (A) Principle of integration (B) Principle of uniformity
 (C) Principle of continuity (D) Principle of predictability

  {dH$mg Ho$ {H$g {gÕmÝV Ho$ AZwgma {dH$mg J^©YmaU go _¥Ë`w VH$ {Za§Va à{H«$`m h¡ ?

(A) EH$sH$aU H$m {gÕmÝV  (B) EH$ê$nVm H$m {gÕmÝV
(C) {Za§VaVm H$m {gÕmÝV (D) ^{dî`dmUr H$m {gÕmÝV 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


   (7) D

RL-2

15. How are rubrics benefi cial in the assessment process ?
 (A) They simplify assessments by eliminating detailed feedback
 (B) They replace all forms of teacher assessments
 (C) They emphasize fi nal grades only
 (D) They provide clear criteria for evaluating students performance
  _yë`m§H$Z à{H«$`m _| ê${~«Šg H¡$go bm^H$mar hmoVo h¢ ?

(A) do {dñV¥V à{V{H«$`m H$mo g_mßV H$aHo$ _yë`m§H$Z H$mo gab ~ZmVo h¢ 
(B) do {ejH$m| Ho$ g^r àH$ma Ho$ _yë`m§H$Z H$mo à{VñWm{nV H$aVo h¢
(C) do Ho$db A§{V_ loUr na Omoa XoVo h¡
(D) do N>mÌm| Ho$ àXe©Z H$m _yë`m§H$Z H$aZo Ho$ {b`o ñnîQ> _mZX§S> àXmZ H$aVo h¡ 

16. Which example best illustrates intrinsic cognitive load ?
 (A) A task requiring multiple examples
 (B) A student struggling to recognize complex elements
 (C) A lesson with destructing visuals
 (D) Managing unrelated background noise
  Am§V[aH$ g§kmZmË_H$ ^ma H$m g~go AÀN>m CXmhaU H$m¡Z-gm h¡ ?

(A) EH$ H$m`© {OgHo$ {b`o H$B© CXmhaUm| H$s Amdí`H$Vm h¡
(B) EH$ N>mÌ Omo O{Q>b VËdm| H$mo nhMmZZo Ho$ {bE g§Kf© H$a ahm h¡
(C) {dZmeH$mar Ñí`m| dmbm nmR>
(D) Ag§~§{YV n¥îR>^y{_ emoa H$mo à~§{YV H$aZm

17. What does the interdependence of heredity and environment signify ?
 (A) Traits are determined by environment only
 (B) Traits are determined by heredity only
 (C) Both heredity and environment infl uence development
 (D) Neither heredity nor environment infl uences development
  d§emZwH«$_ Am¡a n`m©daU H$s nmañn[aH$ {Z^©aVm Š`m Xem©{V h¡ ?

(A) JwU Ho$db n`m©daU Ûmam {ZYm©[aV hmoVo h¡
(B) JwU Ho$db d§emZwH«$_ Ûmam {ZYm©[aV hmoVo h¡
(C) {dH$mg H$mo d§emZwH«$_ Am¡a n`m©daU XmoZmo§ à^m{dV H$aVo h¡ 
(D) Z Vmo d§emZwH«$_ Am¡a Z hr n`m©daU {dH$mg H$mo à^m{dV H$aVo h¡ 

18. Which adjustment mechanism involves using substances like alcohol or drugs to 
escape anxiety ?

 (A) Avoidance mechanism (B) Cognitive restructuring
 (C) Adjustment by escape (D) Adjustment by illness
  H$m¡Z-gm g_m`moOZ V§Ì eam~ `m Zerbo nXmWm] H$m Cn`moJ XþpíM¨Vm go ~MZo Ho$ {bE H$aVm h¡ ?

(A) n[ahma V§Ì   (B) g§kmZmË_H$ nwZJ©R>Z
(C) nbm`Z Ûmam g_m`moOZ (D) ~r_mar Ûmam g_m`moOZ
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19. What is the fi rst step in planning an achievement test ?
 (A) Writing the marking scheme 
 (B) Identifying instructional objectives
 (C) Preparing the question paper directly
 (D) Deciding on the grading system
  CnbpãY narjU ~ZmZo _| nhbm H$X_ Š`m h¡ ?

(A) _yë`m§H$Z `moOZm {bIZm
(B) {ZX}emË_H$ CÔoí`m| H$s nhMmZ H$aZm
(C) grYo hr àíZ nÌ V¡`ma H$aZm
(D) J«oqS>J àUmbr H$m {ZU©` H$aZm

20. Which personality inventory uses factor analysis to measure traits ?
 (A) Myers-Briggs type indicator (B) Minnesota multipasic personality inventory
 (C) Cattell’s 16 PF scale (D) California psychological inventory
  H$m¡Z-gm ì`{º$Ëd BÝd|Q>ar JwUm| H$mo _mnZo Ho$ {bE H$maH$ {díbofU H$m Cn`moJ H$aVm h¡ ?

(A) _m`g©-{~«½g Q>mBn B§{S>Ho$Q>a (B) {_ZogmoQ>m _pëQ>no{gH$ ng©Zm{bQ>r BÝd|Q>ar
(C) H¡$Q>b H$m 16 nr.E\$. ñHo$b (D) H¡${b\$mo{Z©`m gmBH$mobm°{OH$b BÝd|Q>ar

21. Which of the following is an internal factor aff ecting childs development ?
 (A) Intelligence   (B) Social environment
 (C) Peer group relationships (D) Economic conditions
  {ZåZ{b{IV _| go H$m¡Z-gm H$maH$ ~ÀMo Ho$ {dH$mg H$mo à^m{dV H$aZo dmbm Am§V[aH$ H$maH$ h¡ ?

(A) ~w{Õ_Vm   (B) gm_m{OH$ n`m©daU
(C) ghnmR>r g_yh g§~§Y   (D) Am{W©H$ pñW{V`m±

22. What is the primary goal of the teaching strategies suggested in NCF 2005 ?
 (A) To ensure all students memorize facts effi  ciently for exams
 (B) To connect knowledge to real life experiences and foster creativity
 (C) To focus on individual achievement through competitive learning
 (D) To use technology as the main tool for learning

  NCF 2005 Ûmam gwPmB© JB© {ejU aUZr{V`m| H$m _w»` CÔoí` Š`m h¡ ?

(A) `h gw{ZpíMV H$aZm {H$ g^r N>mÌ narjm Ho$ {bE VÏ` Hw$ebVm go `mX H$a b| 
(B) kmZ H$mo dmñV{dH$ OrdZ Ho$ AZw^dm| go Omo‹S>Zm Am¡a aMZmË_H$Vm H$mo àmoËgm{hV H$aZm
(C) à{VñnYm©Ë_H$ {ejm Ho$ _mÜ`_ go ì`pŠVJV CnbpãY na Ü`mZ XoZm
(D) {ejU Ho$ _w»` CnH$aU Ho$ ê$n _| àm¡Úmo{JH$s H$m Cn`moJ H$aZm

  CnbpãY narjU ~ZmZo _| nhbm H$X_ Š`m h¡ ?
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23. What teaching strategy is recommended for students with below average intelligence ?
 (A) Skipping basic steps
 (B) Giving assignments without explanation
 (C) Presenting material in small, logical steps
 (D) Avoiding practice exercises

  Am¡gV go H$_ ~w{Õ_Vm dmbo N>mÌm| Ho$ {bE H$m¡Z-gr {ejU aUZr{V H$s {g\$m[ae H$s OmVr h¡ ?

(A) ~w{Z`mXr MaUm| H$mo N>moS> XoZm
(B) {~Zm ì`m»`m Ho$ àXÎm H$m`©
(C) gm_mJ«r H$mo N>moQ>o Am¡a Vm{H©$H$ MaUm| _| àñVwV H$aZm
(D) Aä`mgH$mar Aä`mgm| go ~MZm

24. What is meant by intra-individual diff erences ?
 (A) Diff erences within an individual (B) Diff erences among various individuals
 (C) Only physical characteristics (D) Only mental characteristics
  AÝV:d¡`pŠVH$ {d{^ÞVm H$m Š`m AW© h¡ ?

(A) ì`{º$`m| Ho$ ^rVa {d{^ÞVmE± (B) {d{^Þ ì`{º$`m| Ho$ ~rM {d{^ÞVmE±
(C) Ho$db emar[aH$ {deofVmE± (D) Ho$db _mZ{gH$ {deofVmE±

25. How is learning diff erent from maturation ?
 (A) learning is a natural growth process
 (B) Learning requires external experiences, whereas maturation is genetic
 (C) Maturation involves deliberate practice
 (D) Learning is independent of the environment

  grIZo H$mo n[anŠdVm go {H$g àH$ma AbJ {H$`m Om gH$Vm h¡ ?
(A) grIZm EH$ àmH¥${VH$ {dH$mg à{H«$`m h¡
(B) grIZo Ho$ {bE ~mhar AZw^d Amdí`H$ h¢, O~{H$ n[anŠdVm AmZwd§{eH$ h¢
(C) n[anŠdVm OmZ~yPH$a {H$`o J`o Aä`mg na AmYm[aV h¢
(D) grIZm n`m©daU go ñdV§Ì h¢

26. What is a gifted child considered as in society ?
 (A) A liability to the nation (B) A resource of incalculable value
 (C) A dependent individual (D) A socially inactive learner

  g_mO _| à{V^membr ~ÀMo H$mo {H$g ê$n _| XoIm OmVm h¡ ?

(A) amîQ´> Ho$ {bE EH$ ^ma  (B) A_yë` g§gmYZ
(C) EH$ {Z^©a ì`{º$   (D) gm_m{OH$ ê$n go {ZpîH«$` A{YJ_H$Vm©

  Am¡gV go H$_ ~w{Õ_Vm dmbo N>mÌm| Ho$ {bE H$m¡Z-gr {ejU aUZr{V H$s {g\$m[ae H$s OmVr h¡ ?

  g_mO _| à{V^membr ~ÀMo H$mo {H$g ê$n _| XoIm OmVm h¡ ?
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27. Which concept deals with assigning numerical indices to describe a quantity ?
 (A) Evaluation (B) Measurement (C) Assessment (D) Testing

  H$m¡Z-gr AdYmaUm {H$gr _mÌm H$mo _mnZo Ho$ {bE g§»`mË_H$ gyMH$m§H$ {Z{X©îQ> H$aZo go g§~§{YV h¢ ?
(A) _yë`m§H$Z (B) _mnZ (C) AmH$bZ (D) narjU

28. What is the main subject of the nature vs nurture debate ?
 (A) Intelligence is infl uenced by both genetic and environmental factors
 (B) Intelligence increases only with education
 (C) Intelligence is inherited only from parents
 (D) Intelligence is infl uenced only by social conditions

  àH¥${V ~Zm_ nmofU n[ag§dmX H$m _w»` {df` Š`m h¡ ?
(A) ~w{Õ_Vm AmZwd§{eH$ Am¡a n`m©daUr` H$maH$m| go à^m{dV hmoVr h¡
(B) ~w{Õ_Vm Ho$db {ejm go ~‹T>Vr h¡
(C) ~w{Õ_Vm Ho$db _mVm-{nVm go {damgV _| {_bVr h¡
(D) ~w{Õ_Vm Ho$db gm_m{OH$ n[apñW{V`m| go à^m{dV hmoVr h¡ 

29. The medium of instruction under Section 29 of RTE Act, 2009 should emphasize
 (A) Global languages only
 (B) Only English for all stages
 (C) Regional and mother tongue in early stages
 (D) Digital platforms

  RTE EŠQ, 2009> H$s Ymam 29 Ho$ VhV {ejm H$m _mÜ`_ àmW{_H$ ê$n go hmoZm Mm{hE
(A) Ho$db d¡pídH$ ^mfmE±
(B) g^r MaUm| Ho$ {bE Ho$db A§J«oOr
(C) àma§{^H$ MaUm| _| joÌr` Am¡a _mV¥^mfm
(D) {S>{OQ>b ßb¡Q>\$m°_© 

30. Which of the following factors bring relatively permanent changes in behaviour ?
 (A) Training and practice (B) Maturation only
 (C) Physical fatigue   (D) Emotional stress

  H$m¡Z-go H$maH$ ì`dhma _| AnojmH¥$V ñWm`r n[adV©Z bmVo h¢ ?

(A) à{ejU Am¡a Aä`mg  (B) Ho$db n[anŠdVm

(C) emar[aH$ WH$mdQ>   (D) ^mdZmË_H$ VZmd

https://applink.adda247.com/d/XhqWf9lSap
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IÊS – II
^mfm – I

{hÝXr
Bg IÊS> _| Hw$b 30 àíZ h¢ &

g^r àíZ A{Zdm`© h¢ &

 31. {ZåZ{b{IV _| go ‘ {dO`XmZ XoWm’ H$s aMZm h¡ 
 (A) aU_ëb N>§X (B) AboIy§ {hQ>ba (C) ZwH$Vr-XmUm (D) AmO am¡ gadU

 32. ^maVdf© _| ‘ qH$S>a JmQ>©Z ~m°Šg' H$m {Z_m©U {H$`m 
 (A) ^mobmZmW {Vdmar Zo   (B) Eg. Ho$. Xoenm§S>o Zo
 (C) _hmË_m Jm§Yr Zo   (D) n§{S>V XodrXÎm Zo

 33. ‘ßbo do’ (Play Way) nwñVH$ Ho$ boIH$ h¢ 
 (A) S>m°. _m°ÊQ>ogar (B) Hw$H$ _hmoX` (C) ßboQ>mo (D) \«$mo~ob

 34. {bIZo _| O~ H$moB© eãX ŷb go Ny>Q> OmE Vmo Cgo {bIZo Ho$ {bE à`moJ {H$`m OmZo dmbm {dam_ {M• h¡
 (A) Vwë`Vm gyMH$ {M•   (B) g§Ho$V {M•
 (C) h§gnX {M•   (D) dJm©H$ma H$moîR>H$ {M• 

 35. ‘ {MÌ-{dñVmaH$ `ÝÌ (E{nS>m`ñH$mon)’ H$s {deofVm h¡
 (A) Bg_| Üd{Z H$s Amdí`H$Vm Zht hmoVr h¡ &
 (B) `h ImXr ~moS>© H$m hr EH$ ê$n h¡ &
 (C) Bg_| {ejH$ ñd`§ aoIm{MÌ Ed§ S>m`J«m_ ItM gH$Vm h¡ &
 (D) `h ^mfm à`moJembm H$m hr EH$ ê$n h¡ &

{ZX}e : {ZåZ{b{IV JÚm§e Ho$ AmYma na àíZ g§»`m 36-45 VH$ Ho$ CÎma Xr{OE :

           Am_ AmX_r Ho$ {bE {dkmZ H$m _Vb~ Š`m h¡ ? {dkmZ _mZd gä`Vm Am¡a g§ñH¥${V H$m EH$ ê$n 
h¡ & AmYw{ZH$ {dkmZ Zo Bg Z¡g{J©H$ gmXJr d gm¡ÝX`© H$mo hm{eE na S>mb H$a {dkmZ H$mo EH$ Am¡nMm[aH$ 
T>m±Mo _| H¡$X H$a {b`m h¡ & {dkmZ EH$ Am¡Oma ~Z J`m h¡ {Oggo àH¥${V Ho$ ahñ`m| H$mo ImobZo H$s 
H$mo{ee H$s OmVr h¡§ & Bg à{H«$`m _| Am_ B§gmZ H$m g§~§Y Bggo H$Q> J`m h¡ & ‘ {dkmZ nydm©J«hm| go _wŠV 
kmZ H$m ^ÊS>ma h¡’- Eogm H$hm OmVm h¡ & {dkmZ H$mo {dH$mg go Omo‹S>m OmVm h¡ & `h gamga JbV h¡ & 
{OZ Am{Xdm{g`m| Zo g{X`m| àH¥${V Ho$ gmW gå_mZOZH$ [aíVm ~ZmE aIm, AmO h_Zo CÝh| ‘A{dH${gV’ 
_mZ {b`m h¡ & _mZd H$m _mZd go g§~§Y hm{Z-bm^ na {ZYm©[aV hmo ahm h¡ &  

 36. {ZåZ{b{IV _| go ‘CngJ©’ `wŠV eãX h¡

 (A) {dkmZ (B) nydm©J«h (C) gä`Vm (D) ahñ`
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37. ‘ ..... AmO h_Zo CÝh| A{dH${gV _mZ {b`m h¡ &’ {XE JE dmŠ` _| aoIm§{H$V eãX h¡ 

(A) g§km (B) gd©Zm_ (C) {deofU (D) {H«$`m

38. {H$g {dH$ën Ho$ g^r eãX ‘CXma’ eãX H$m AW© XoVo h¡ ?

(A) AZwXma, ~‹S>m, H${R>Z, B©_mZXma (B) XmVm, ~‹S>m, gab, loîR>

(C) XmZdra, gab, Hw$enwÌ, H$U© (D) _m¡{bH$, pñWa, A{YH$Vm, A{^àm`

39. hm{Z-bm^ _| g_mg h¡

(A) VËnwéf g_mg   (B) Aì``r^md g_mg

(C) H$_©Yma` g_mg   (D) ÛÝÛ g_mg

40. {H$g {dH$ën _| g^r eãX ‘B§gmZ’ Ho$ n`m©`dmMr h¢ ?

(A) H¡$dV©, àmUr, A{Zb  (B) _mZg, _hrn, _rV

(C) _mZd, _ZwO, _mZwf   (D) _méV, Cnb, Ord

41. ‘g§ñH¥${V’ eãX H$m ‘gpÝY-{dÀN>oX’ hmoJm

(A) gw + H¥${V   (B) g_² + H¥${V

(C) gZ² + H¥${V   (D) gV² + H¥${V

42. ‘_wŠV’ eãX H$m ‘ {dbmo_ eãX’ h¡ 

(A) _moj (B) {Zdm©U (C) H¡$dë` (D) ~Õ

43. ì`mH$a{UH$ ÑpîQ> go ‘àH¥${V’ eãX h¡ 

(A) gd©Zm_ (B) {deofU (C) g§km (D) {H«$`m

44. {ZåZ{b{IV dmŠ` _| aoIm§{H$V A§e {H$gH$m CXmhaU h¡ ?

  ‘ {dkmZ _mZd gä`Vm Am¡a g§ñH¥${V H$m EH$ ê$n h¡ &’

(A) ì`{YH$aU g_wÀM` ~moYH$ Aì`` H$m

(B) g§Ho$VdmMH$ g_wÀM` ~moYH$ Aì`` H$m

(C) g_mZm{YH$aU g_wÀM` ~moYH$ Aì`` H$m 

(D) g§~§Y ~moYH$ Aì`` H$m

 45. ‘AmX_r’ eãX h¡ 

(A) VX²^d (B) {dXoer (C) VËg_ (D) XoeO
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46. ‘^mfm à`moJembm’ Ho$ g§X^© _| C{MV H$WZ h¡ 
(A) g^r N>mÌ EH$ Xÿgao go g§nH©$ H$a gH$Vo h¢ &
(B) g^r N>mÌ ~mhar dmVmdaU go à^m{dV ahVo h¢ &
(C) 4×4=16 N>mÌm| Ho$ ~¡R>Zo d grIZo H$s ì`dñWm ahVr h¡ &

(D) {ejH$ AnZr grQ> go {H$gr ^r N>mÌ H$mo {ZX}e Zht Xo gH$Vm h¢ &

47. ‘ñdJ{V H$m {gÕmÝV’ h¡ 
(A) A{^H«${_V AZwXoeZ àUmbr H$m (B) d¡`pŠVH$ AZwXoeZ àUmbr H$m

(C) H$åß`yQ>a AmYm[aV AZwXoeZ àUmbr H$m (D) Cn`w©ŠV VrZm| àUm{b`m| H$m

48. ‘EH$ naoemZr nhbo go hmoZo na ZB© naoemZr H$m Am KoaZm’ ^md dmbm _whmdam h¡  
(A) H$~« _| nm±d bQ>H$Zm   (B) AmR>-AmR> Am±gy amoZm

(C) H$mo‹T> _| ImO hmooZm   (D) AmJ _| Kr S>mbZm

  {ZX}e : {ZåZ{b{IV JÚm§e Ho$ AmYma na àíZ g§»`m 49 go 54 VH$ Ho$ CÎma Xr{OE :

              AmO h_mam gm_m{OH$ T>m±Mm Ma_amZo bJm h¡ & ^mB©-~{hZ Ho$ g§~§Ym| _| ^r ào_ {Vamo{hV hmoVm Om 

ahm h¡ & {ZH$å_o ahH$a _Zwî`m| H$s {MÝVZ-epŠV WH$ JB© h¡ & {~ñVam| Am¡a AmgZm| na gmoVo-gmoVo _Z 

Ho$ Kmo‹S>o hma J`o h¢ & gmam OrdZ {ZMw‹S> MwH$m h¡ & ñdßZ nwamZo hmo MwHo$ h¢ & AmO _Zwî` n¡gm H$_mZo H$s 

_erZ ~Z MwH$m h¡ & gmam g_mO AW© àYmZ hmoVm Om ahm h¡ & {g\©$ YZ Am¡a YZ H$_mZo H$s bmbgm 

Ho$ MbVo ì`pŠV `h ^yb ~¡R>m h¡ {H$- ‘AUyVmo YZ gwI gmpÝV Zo Imog bodo &’ ^m¡{VH$ dñVwAm| H$mo nmZo 

H$s MmhZm Ap½Z gÑe gX¡d àÁd{bV ahVr h¡ &

49. ‘gmam OrdZ {ZMw‹S> MwH$m h¡ &’ Bg dmŠ` _| H$mb h¡ 

(A) dV©_mZ H$mb (B) ^{dî` H$mb (C) ^yVH$mb (D) g§{X½Y dV©_mZ H$mb

50. ~{hZ H$m ‘nwpëb¨J’ eãX hmoJm 

(A) ^mZOm (B) ~{hZm| (C) ~hZmoB© (D) ^mB`m|

51. {ZåZ{b{IV _| go H$m¡Z-gm eãX EH$dMZ Am¡a ~hþdMZ _| g_mZ ê$n go à`wŠV hmo gH$Vm h¡ ?

(A) _Zwî` (B) Kmo‹S>m (C) _erZ (D) `h

52. JÚm§e _| à`wŠV ‘AUyVmo YZ gwI-gmpÝV Zo Imog bodo’ H$hmdV _| ‘AUyVmo’ eãX H$m {hÝXr AW© h¡

(A) AZyR>m   (B) A{YH$ 

(C) AX²^wV   (D) Aën
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53. {ZåZ{b{IV _| go ‘nwpëb¨J’ eãX h¡ 

(A) dñVw (B) YZ (C) Ap½Z (D) epŠV

54. ‘ {Vamo{hV’ eãX H$m AW© h¡ 

(A) bwßV (B) àH$m{eV (C) bmbm{`V (D) {VañH$ma

55. ì`mH$aU H$s {ejm àmaå^ H$aZm H$m¡Z-gr H$jm go A{YH$m§eV: ^mfm {dkm{Z`m| Zo C{MV _mZm h¡ ?

(A) H$jm 8 go (B) H$jm 6 go (C) H$jm 4 go (D) H$jm 7 go

56. {ZåZ{b{IV _| go amOñWmZr ~mo{b`m| _| gpå_{bV h¡

(A) N>ÎmrgJ‹T>r   (B) ~wÝXobr 

(C) _Jhr   (D) hm‹S>m¡Vr

57. ‘dñVw{ZîR> àíZm|’ Ho$ g§~§Y _| H$m¡Z-gm H$WZ gË` h¡ ?

(A) BÝh| dU©ZmË_H$ àíZ H$hm OmVm h¡ &

(B) `o àíZ nmR²>`{df` H$mo A{YH$ go A{YH$ g_md¥Îm H$a gH$Vo h¢ &

(C) BZ àíZm| Ho$ _yë`m§H$Z _| {ejH$ H$mo ñdVÝÌVm ahVr h¡ &

(D) BZ àíZm| Ho$ Ûmam H$_ g_` _| A{YH$ àíZm| Ho$ CÎma Zht Xo gH$Vo h¢ &

58. ‘`{X Vw_ A_o[aH$m OmAm|o Vmo Vwåh| {d{^Þ Xoem| Ho$ ì`pŠV XoIZo H$mo {_b|Jo &’ - ‘AW© H$s ÑpîQ ’> go 

Cn`w©ŠV dmŠ` H$m àH$ma h¡ 

 (A) AmkmW©H$ dmŠ`   (B) g§Ho$VmW©H$ dmŠ`

 (C) gÝXohgyMH$ dmŠ`   (D) {dYmZmW©H$ dmŠ`

 59. ‘CÀM àmW{_H$ ñVa Ho$ ~ÀMo O~ ~mob| Vmo CÝh| Q>moH$m Z OmE & gwPmd A§V _| {XE OmE± &’ Bggo CZ_| 

H$m¡Z-go ‘H$m¡eb’ H$m {dH$mg hmoJm ?

 (A) ldU H$m¡eb H$m   (B) nR>Z H$m¡eb H$m

 (C) ~mobZm H$m¡eb H$m   (D) boIZ H$m¡eb H$m

 60. narjm Ho$ g_` hr AÜ``Z H$aZo dmbo N>mÌm| Ho$ g§X^© _| gË`-H$WZ h¡

 (A) CÝh| nmR²>`gm_J«r H$m nyam kmZ hmoVm h¡ &

 (B) CÝh| AnZr H${_`m| H$m {Za§Va kmZ hmoVm ahVm h¡ &

 (C) do g_PZo H$s Anojm aQ>Zo na A{YH$ {Z^©a ahVo h¡ &

 (D) _mVm-{nVm d A{^^mdH$m| H$mo CZH$s àJ{V H$s {Za§Va OmZH$mar ahVr h¡ &

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


   (15) D

RL-2

SECTION – II

LANGUAGE – I
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

 31. Phonetic symbol for “show” is 
 (A) ʃəʊ (B) soʊ (C) ʃo (D) sho
 32. The evaluation cycle has not one of these elements :
 (A) Measurement   (B) Objectives 
 (C) Learning experiences (D) Tools and devices of evaluation
 33. Choose the right question for 
  ‘Rani went to Delhi by bus’.
 (A) Does Rani go to Delhi by bus ? (B) Did Rani go to Delhi by bus ? 
 (C) Did Rani went to Delhi by bus ? (D) Do Rani go to Delhi by bus ?
 34. In language structures can be divided into ________ categories.
 (A) 2 (two) (B) 3 (three) (C) 4 (four) (D) 5 (fi ve)
 35. The number of consonant sounds is 
 (A) 21 (B) 22 (C) 23 (D) 24

Read the passage and answer the questions (Q. Nos. 36-42) that follow : 
        At the circus I had no chance to study human beings. They had sat in their seats 
peacefully while I cowered before captain’s whip. I got totally wrong idea of human 
beings at that angle. I had thought that they were strong and fearless. But now I found 
them running from me like a herd of deer, although I had no intention of attacking them. 
When I paused in front of a tailor’s shop, he abandoned his machine and shut himself in 
a cupboard, wailing. “Alas, I am undone, won’t someone shoot that tiger ?”

 36. The synonym of  ‘chance’ is 
 (A) Cowered (B) Totally (C) Thoughtfully (D) Opportunity
 37. The correct spelling is 
 (A) Machinist (B) Machinest (C) Machineist (D) Machiniest
 38. The antonym of  ‘fearless’ is 
 (A) Frightened (B) Scared (C) Wailing (D) Paused
 39. Correct adjective form of  ‘intention’ is 
 (A) Intentionally (B) Intentionaly (C) Intently (D) Intentional
 40. The synonym of  ‘abandoned’ is :
 (A) Cowered (B) Herd (C) Left (D) Undone
 41. The root verb of ‘sat’ is
 (A) Set (B) Sit (C) Sut (D) Site
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42. A person who leads a group is a 
 (A) Courageous (B) Strong (C) Fearless (D) Captain

43. Out of the following which is not a quality of good handwriting ?
 (A) Legibility (B) Attractiveness (C) Uniformity (D) Writing slowly

44. Rubrics can be used for :
 (A) Self assessment and peer assessment.   
 (B) Students and teacher assessment. 
 (C) Teacher assessment. 
 (D) Teacher and parents assessment.

45. Choose the right question for 
  ‘He has given a pen to Radha’.
 (A) To whom has he given a pen ? (B) To who has he given a pen ? 
 (C) To whose has he given a pen ? (D) To what has he given a pen ?

46. Which out of following is incorrect  ?
  Principle of naturalness in teaching, learning of English consists of
 (A) Talking to students in foreign language in the class, playground  etc.  
 (B) Giving grades and sequence. 
 (C) Arranging for group discussions.   
 (D) Encouraging students to converse in target language.

47. Which one is not the aim of intensive reading ?
 (A) To enable students to speak English correctly.   
 (B) To increase students active vocabulary. 
 (C) To concentrate upon language.   
 (D) To save time.

48. Which out of the following is not related to the direct method of learning English ?
 (A) Grammar is taught systematically.   
 (B) It makes pupil to think in English. 
 (C) It enable pupil to express his thoughts and feelings directly by means of English. 
 (D) This method is interesting because it is full of activity.

49. Choose the correct indirect speech for 
  The policeman said to us, “where are you going ?”
 (A) The policeman asked that where we are going.  
 (B) The policeman enquired where we were going. 
 (C) The policeman asked us where we are going. 
 (D) The policeman enquired us where were are going.
 50. In close test students are asked :
 (A) To answer questions with the help of their peer who is close to them.
 (B) To answer questions with the help of a text book which is closed.
 (C) To fi ll the blank or delete words from the passage to complete the idea.
 (D) To point out the error from the options.
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Read the passage and answer the questions (Q. Nos. 51-57) that follow :
             Noise pollutes our environment just as much as smoke, foul water, dirty air 

and litter. It can cause illness and deafness. The human body never gets used to noise. 
It continues to react even though a person thinks he or she has become used to all 
surrounding noises. For instance, Naseer who lived in an apartment on a busy street 
often boasted that he could sleep through any kind of noise. He claimed he just didn’t 
hear it. Well, Naseer could sleep through the roar of traffi  c and the blare of a television 
set in the next apartment, but he didn’t know that while he slept his body was reacting 
to the stress of the noise.

51. The human body never gets used to noise. The sentence is in 
 (A) Simple future   (B) Present indefi nite 
 (C) Past perfect   (D) Present continuous

52. He and she has become used to all the surrounding noises. The underlined words are :
 (A) Common nouns   (B) Possessive pronouns 
 (C) Relative pronouns  (D) Personal pronouns

53. Choose the conjunction out of the following :

 (A) Or (B) Just (C) To (D) Has
54. Smoke, foul water, dirty air and litter _______ our environment just as much as noise.

 (A) Pollute (B) Pollutes (C) Polluted (D) Polluting
55. Choose the correct superlative degree of ‘busy’.

 (A) Busiest (B) Busier (C) Busyest (D) Busiast
56. ________ illness ________ deafness can be caused by noise pollution.

 (A) As – so (B) Both – and (C) Neither – nor (D) As – as
57. Which of the following is a determiner ?

 (A) Through (B) Never (C) An (D) Of
58. Choose the correct passive voice for 

  ‘Some boys were helping the wounded man’.
 (A) The wounded man were helped by some boys.   
 (B) The wounded man was helped by some boys. 
 (C) The wounded man was helping by some boys.   
 (D) The wounded man was being helped by some boys.

59. The old methods used to teach English language are 
 (A) Translation cum grammar method and direct method.   
 (B) Translation cum grammar method and bilingual method. 
 (C) Translation cum grammar method and substitutional method.   
 (D) Translation cum grammar method and multilingualism.

60. A picture is :
 (A) An audio aid   (B) An audio-visual aid 
 (C) A visual aid   (D) None
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IÊS> – II
^mfm> – I (àW_m) 

g§ñH¥$V_²
AÌ qÌeV² àíZm: gpÝV &
gd} àíZm: g_mYo`m: &

 31. Ì`mUm§ H$m¡ebmZm§ _ybmYma§ H$m¡eb§ {H$_² ?

 (A) nR>Z_² (B) ldU_² (C) ^mfU_² (D) boIZ_²

 32. _mhoídagyÌofw “`U²” àË`mhmao dUm©: ^d{V
 (A) ` d h n (B) ` d a b (C) ` a f b (D) ` b Äm _

 33. Ho$Z _yë`m‘>oZ N>mÌofw g§ñH¥$V nR>Z§ à{V BÀN>m`m:-à{VñnYm©`míM ^mdZmoËnÞm ^d{V ?

 (A) ~mh²`_yë`m‘>ZoZ   (B) AmÝV[aH$_yë`m‘>ZoZ
 (C) {b{IV_yë`m‘>ZoZ   (D) _m¡{IH$_yë`m‘>ZoZ

 34. “J²” B{V dU©ñ` CƒmaU ñWmZ§ {H$_² ?
 (A) Vmbw: (B) H$ÊR>: (C) _Ym© (D) XÝVm:

 35. g§ñH¥$Vì`mH$aU{ejUñ` Xe©Z{ejUñ` M àmMrZV_mo {d{Y: {dÚVo
 (A) gyÌ{d{Y: (B) nmam`U{d{Y: (C) ^mfU{d{Y: (D) _m¡{IH${d{Y:

 36. Ëd§ à{V{XZ§ J«ÝW§ nR>{g &
 (A) Ëd`m à{V{XZ§ J«ÝW: nR²>`Vo & (B) Ëd`m à{V{XZ§ J«ÝW_² AnR>V² &
 (C) Ëd_² à{V{XZ§ J«ÝW: nR²>`Vo & (D) Ëd`m à{V{XZ§ J«ÝW_² AnR>: &

 37. H$`m narj`m ~mbH$mZm§ ì`{º$JVJwUmdJwUmíM kmVw§ eŠ`ÝVo ?

 (A) {Z~ÝYnarj`m   (B) àm`mo{JH$narj`m
 (C) {b{IVnarj`m   (D) _m¡{IH$narj`m

 38. “_Z{g B©ûda§ {MÝV` &” aoIm{‘>VnX_mÑË` àíZ-{Z_m©U§ Hw$éV

 (A) H$ñ_¡ (B) Ho$Z (C) H$pñ_Z² (D) H$ñ_mV²

 39. H$m{Z gmYZm{Z {dÚÝVo `m{Z àË`j ê$noU ÑîQ²>dm N>mÌm: H$_{n {df`§ gwJ_V`m AdJÀN>pÝV ?
 (A) Ñí`gmYZm{Z (B) Ñí`lì`gmYZm{Z (C) dm{MH$gmYZm{Z (D) lì`gmYZm{Z

 40. “nyUm©X§e§ à{V” B{V H$ñ` {ejUgyÌñ` nyaH$_pñV ?
 (A) kmVmXkmV§ à{V   (B) ñWybmV² gyú_§ à{V
 (C) {díbofUmV² g§íbofU§ à{V (D) gabmV² H${R>Z§ à{V

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


   (19) D

RL-2

41. ‘h[a H$mo ^{º$ AÀN>r bJVr h¢’ dmŠ`{_X§ g§ñH¥$Vo AZwdmX§ Hw$éV &
(A) h[a¨ ^{º$: amoM{V &   (B) h[a: ^{º$ amoMVo &
(C) ha`o ^{º$: amoMVo &   (D) h[aUm ^{º$ amoMVo &

42. lr nX²_empñÌU: aMZm ApñV
(A) _moh^“_²   (B) H$ÀN> d§e_² 
(C) bo{bZm_¥V_²   (D) lr _hmdra gm¡a^_²

43. H$ñ`m{n {~ÝXmo: dJuH$aUñ` àXe©ZmWª H$m{Z-gmYZm{Z ghm`H$m{Z ^dpÝV ?
(A) {MÌm{U   (B) {^{ÎmnÌm{U 
(C) aoIm{MÌm{U   (D) _mZ{MÌm{U

44. “9 :10” g§ñH¥$Vo g_`§ {bIV

(A) Xem{YH$ XedmXZ_²   (B) gnmX ZddmXZ_²

(C) Xem{YH$-ZddmXZ_²   (D) gmY© ZddmXZ_²

45. H$: {gÕmÝV: íbmoH$nmR>Zg_`o VËgå~pÝYVJ«ÝWñ` Zm_ àg“gÝX^©`moíM dU©Z§ H$amo{V ?
(A) g_dm`{gÕmÝV:   (B) _m¡{IH$H$m`©ñ` {gÕmÝV:
(C) d¡`pŠVH${^ÞVm`m: {gÕmÝV: (D) Aä`mgñ` {gÕmÝV:

46. “_mVm ~mbH$: ní`Vo &” BË`Ì dmŠ`§ g§emoY`V
(A) _mÌm ~mbH$: Ñí`Vo &  (B) _mVm ~mbHo$Z Ñí`Vo &
(C) _mÌo ~mbH$: ní`{V &  (D) _mVw: ~mbH$: ní`{V &

47. AZwH$aU_² Aä`mgíMo{V H$ñ` ^mfm H$m¡ebñ` gmYZÛ`_² ?
(A) boIZ_² (B) nR>Z_² (C) ldU_² (D) ^mfU_²

48. “haZm_m_¥V§” _hmH$mì`ñ` boIH$: H$: ?
 (A) n§. gy`© Zmam`U emñÌr  (B) AmMm`© _YwH$a emñÌr

(C) lr H¥$îUmam_^Å>:   (D) n§. {dÚmYa emñÌr

{ZåZ{b{IV_n{R>V§ nÚm§e_mYmarH¥$Ë` {ZåZm{‘>Vm àíZm: (49 – 52) g_mYo`m: 

eara{dkmZ {dMjUoZ àe§{gVmo@`§ MaHo$ídaoU & 

ñZohmÐ©-^md¡H$ag¡{d©{eîQ>: ewîH$mo@{n {ZË`§ gag: g Xoe: &&

49. “ewîH$:” B{V nXo H$: àË``: ?
 (A) ŠV (B) eV¥ (C) H$ (D) KÄm²
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50. “eara{dkmZ_²” BË`Ì H$: g_mg: ?
 (A) V¥Vr`m VËnwéf: (B) fîR>r VËnwéf: (C) MVwWu VËnwéf: (D) n#m_r VËnwéf:

51. “ñZohmÐ©:” BË`Ì H$: gpÝY: ?
 (A) d¥{ÕgpÝY: (B) JwUgpÝY: (C) nyd©ê$ngpÝY: (D) XrK©gpÝY:

52. Cn`w©ŠV-íbmoHo$ N>ÝXg: Zm_ {H$_² ?
(A) BÝÐdO«m (B) d§eñW: (C) CnOm{V: (D) CnoÝÐdO«m

53. “kmZ§ ________ {H«$`m§ {dZm” AÌ {b{IVgyŠVo: g_w{MVnXoZ [aŠVñWmZ§ nya`V-

 (A) nmR>: (B) e_: (C) bm^: (D) ^ma:

54. “28” B_m§ g§»`m§ g§ñH¥$VoZ {bIV
(A) AîQ>mqde{V: (B) AîQ>qde{V: (C) qde{V-AîQ> (D) AîQ>§ qde{V:

55. _mV¥{dYo: Ana§ Zm_ {H$_² ?
(A) ì`m»`m{d{Y:   (B) nmR²>`nwñVH${d{Y: 
(C) àË`j{d{Y:   (D) _yë`m‘>Z{d{Y:

56. “H${d: JrV§ Jm`{V” dmŠ`{_X§ bL²>bH$mao n[adV©`V
(A) H${d: JrV_² AJm`V² & (B) H${d: JrV§ Jm`Vw &
(C) H${d: JrV§ Jmñ`{V &  (D) H${d: JrV§ Jm`oV² &

{ZåZ{b{IV_² An{R>V§ JÚm§e_mYmarH¥$Ë` àíZm (57 – 60) àíZm: g_mYo`m: –
    bmoHo$ gXm Ñí`Vo EVX² ̀ o OZm AVrd gmYd: gabm ̂ dpÝV, Vofm_mXamo Z ̂ d{V & XþîQ>mñVofm§ YZm{XH$_{n 
hapÝV, H$m ©̀~mYm§ M Hw$d©pÝV & AV EdmoÀ`Vo “_¥Xþ{h© n[a ỳ̂ Vo” & amOZrVm¡ M {deofV: eR>ofw eR>Vm`m: à`moJ: 
H$aUr`: & AÝ`Wm H$m`©{g{ÕZ© ^{dî`{V &

57. “eR>Vm`m:” BË`Ì H$m {d^{º$ ?

 (A) fîR>r (B) MVwWu (C) gßV_r (D) V¥Vr`m

58. “`o gmYd: AVrd gabm: ^dpÝV &” BË`pñ_Z² dmŠ`o {deoî`nX§ {H$_² ?
 (A) AVrd (B) `o (C) gabm: (D) gmYd:

59. “amOZr{V:” BË`Ì H$: g_mg: ?
 (A) Aì``r^md: (B) VËnwéf: (C) ÛÝÛg_mg: (D) ~hþd«r{h:

60. “EdmoÀ`Vo” BË`Ì H$: gpÝY: ?
 (A) XrK©gpÝY: (B) nyd©ê$ngpÝY: (C) JwUgpÝY: (D) d¥{ÕgpÝY:
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II – 
I – 

(CXÿ© )
      

  .31

  (D)  (C)  (B)  (A)

  .32

  (D)  (C)  (B)  (A)

  .33

    (B)    (A)

    (D)    (C)

  .34

  (D)  (C)  (B)  (A)

  .35

  (D)  (C)  (B)  (A)

  .36

  (B)   (A)
  (D)   (C)

  .37

  (D)  (C)  (B)  (A)
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.38
    (B)    (A)

    (D)    (C)

.39

 (D)  (C)  (B)  (A)

.40

 (D)  (C)  (B)  (A)

 .41

 (D)  (C)  (B)  (A)

.42

 (D)  (C)  (B)  (A)

.43

 (D)  (C)  (B)  (A)

.44

 (D)  (C)  (B)  (A)

.45

     (A)

     (B)

     (C) 

     (D)
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.46

 (D)  (C)  (B)  (A)

.47

    (B)    (A)

    (D)    (C) 

 .48

 (D)  (C)  (B)  (A)

.49

 (D)  (C)  (B)  (A)

.50

 (D)  (C)  (B)  (A)

.51

 (D)  (C)  (B)  (A) 

.52

 (D)  (C)  (B)  (A)

.53

    (B)    (A)

   (D)    (C)
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.54
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.56
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 (C)
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 (B)  (A)
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 – II
– I

qgYr

 31. 

 (A)    (B)  
 (C)    (D) 

 32. 
 1.   i. 
 2.   ii. 
 3.   iii. 
 4.   iv. 
 (A) 1-i 2-ii 3-iii 4-iv
 (B) 1-iii 2-i 3-iv 4-ii
 (C) 1-ii 2-iv 3-i 4-iii
 (D) 1-iv 2-iii 3-ii 4-i

 33. 
 (A)  (B)  (C)  (D) 

 34. 
 (A)   (B) 
 (C)  (D) 

 35. 
 (A) (“ ”) (B) ( ! ) (C) ( ; ) (D) ( ? )

 36. 
 (A)     (B)  
 (C)    (D) 
 37. 
 (A)    (B)  
 (C)    (D) 

D
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38.
(A)    (B)
(C)    (D)

39.
(A)    (B)  
(C)    (D)

40.
(A)  (B)
(C)    (D)

41.
(A)    (B)
(C)    (D)

42.

(A)    (B)  
(C)    (D)

43.
(A)  (B)  (C)  (D)
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44.
(A)  (B)  (C)  (D)

45.
(A)    (B)
(C)   (D)

46.
(A)    (B)  
(C)    (D)  

47.
(A)    (B)
(C)    (D)

48.
(A)  (B)  (C)  (D)

 49. 
 (A)  (B) 
 (C)  (D) 

 50. 
 (A)  (B)  (C)  (D) 
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51.
(A)  (B)  (C)  (D)

 52.
(A)  (B)  (C) (D)

53.
(A)  (B)  (C)  (D)

54.
(A)    (B)
(C)    (D)

55.
(A)  
(B)
(C)
(D)

56.
(A)   (B)  (C)  (D)

57.
(A)    (B)  
(C)    (D)

58.
(A)    (B)  
(C)    (D)

59.

(A)    (B)  
(C)    (D)

60.
(A)    (B)  
(C)    (D)
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 ( n§Om~r)

 31. :
 (A)   (B)  (C)  (D) 
 32.  :
 (A)   (B)  (C)  (D) 
 33.  :
 (A)   
 (B)  
 (C) 
 (D) 
 34. 

  
   :
 (A)  (B)  (C)  (D) 
 35. 

 (A)   (B)  (C)  (D)  

 36. 

 (A)   (B)  (C)  (D) 

 37. 

 (A)     (B)   
 (C)    (D) 

 38. :
 (A)     (B)  
 (C)    (D) 
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39.
 (A)   (B) 
 (C)   (D) 

40.

 (A)   (B)  (C)  (D) 

 41. :
 (A)     (B)  
 (C)   (D) 

42.  :
 (A)   (B)  
 (C)  (D)  

43.

 (A)   (B)  (C)  (D) 

44.

 (A)   (B)  (C)  (D) 

 45. 
 (A)   (B)  (C)  (D) 
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 46. 

 (A)  (B)  (C)  (D) 

 47. 

 (A)     (B) 
 (C)    (D) 

48.
 (A)  
 (B) 
 (C)   
 (D) 

 49.  :
 (A)   (B) 
 (C)  (D) 

 50. 

 (A) 
 (B)  
 (C)  
 (D) 

51. :

 (A)  (B) 

 (C)   (D) 

52.

 (A)   (B)  (C)  (D)  

53.

 (A)     (B)  
 (C)     (D) 
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 54. 

 (A)   
 (B) 
 (C)  
 (D) 

55.

 (A)  (B)  (C)  (D) 

56.

 (A)     (B)  
 (C)    (D) 

 57.
 (A)  (B)  (C)  (D) 

58. :
 (A)   (B)  (C)  (D)  

59.

 (A)   (B)  (C)  (D) 
 60. 
 (A)   (B)  (C)  (D)  
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 (JwOamVr)>

 31. 
 (A)   
 (B) 
 (C)    
 (D) 
 32. 

 (A)  (B)  (C)  (D) 

 33. 
 (A)   (B) 
 (C)     (D) 
 34. 
 (A)   (B) 
 (C)     (D) 
 35. 
 (A)   (B)  (C)  (D) 

 36. 
 (A)     (B) 
 (C)     (D) 
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37.
 (A)  (B)  (C)  (D) 

38.
 (A)  (B)  (C)  (D) 

39.
 (A)   (B)  (C)  (D) 

40.
 (A)     (B) 
 (C)   (D) 

41.
 (A)   (B)  (C)  (D) 

42.
 (A)   (B)  (C)  (D) 

43.
 (A)   (B)  (C)  (D) 

44.
 (A)  (B)  (C)  (D) 

45.
 (A)   (B)  (C)  (D) 

46.
 (A)   (B)  (C)  (D) 

47.
 (A)    (B) 
 (C)     (D) 
 48. 
 (A)    (B) 
 (C)     (D) 
 49. 
 (A)   (B)  (C)  (D) 
 50. 
 (A)   (B) 
 (C)  (D) 
 51. 

 (A)    (B) 
 (C)     (D) 
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52.
 (A)   (B)  (C)  (D) 

53.
 (A)  
 (B) 
 (C) 
 (D) 

54.

 (A)     (B) 
 (C)   (D) 

55.
 (A)   (B)  (C)  (D) 

56.
 (A)   (B)  (C)  (D) 

57.
 (A)   
 (B) 
 (C)     
 (D) 

 

   
58.

 (A)  (B)  (C)  (D) 
59.

 (A)  (B)  (C)  (D) 
60.

 (A)     (B) 
 (C)    (D) 
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IÊS> – III
^mfm – II

{hÝXr
Bg IÊS> _| Hw$b 30 àíZ h¢ &

g^r àíZ A{Zdm`© h¢ &

 61. ‘ g¡ZmUr’ H${dVm Ho$ aMZmH$ma h¢ 
 (A) _oKamO ‘ _wHw$b’   (B) MÝÐ qgh 
 (C) am_ZmW H${d`m   (D) gË`àH$me Omoer

 62. {ÛVr` ^mfmAm| H$s ‘ñd`§ {ejU_mbmE±’ AmYm[aV hmoVr h¢ 
 (A) g§KQ>ZmnaH$ {d{Y na  (B) àË`j {d{Y na 
 (C) ì`mH$aU Ed§ AZwdmX {d{Y na (D) Iob {d{Y na
 63. _m¡Z nR>Z H$m ^mdmË_H$ CÔoí` h¡ 
 (A) AÜ``Z _| é{M CËnÝZ H$aZm (B) Vrd« J{V go nR>Z H$m Aä`mg H$aZm 
 (C) eãX ^ÊS>ma _| A{^d¥{Õ H$aZm (D) nmR²>`H«$_ erK«Vm go nyU© H$aZm

{ZX}e : {ZåZ{b{IV JÚm§e Ho$ AmYma na àíZ g§»`m 64 go 73 VH$ CÎma Xr{OE &

      ‘g§ñH¥${V’ eãX H$m g§~§Y g§ñH$ma go h¡ {OgH$m AW© h¡ g§emoYZ H$aZm, CÎm_ ~ZmZm, n[aîH$ma H$aZm & 
A§J«oOr eãX ‘H$ëMa’ _| dhr YmVw h¡ Omo ‘EJ«rH$ëMa’ _| h¡ & BgH$m ^r AW© ‘n¡Xm H$aZm, gwYmaZm’ h¡ & g§ñH$mam| 
go {H$gr ì`pŠV AWdm Om{V H$m {dH$mg J{Vnyd©H$ hmoVm h¡ & OmVr` g§ñH$mam| H$mo hr g§ñH¥${V H$hVo h¢ & 
g§ñH¥${V EH$ g_yhdmMH$ eãX h¡ & Obdm`w Ho$ AZwHy$b ahZ-ghZ H$s {d{Y`m± Am¡a {dMma-na§namE± Om{V Ho$ 
bmoJm| _| Ñ‹T>_yb hmo OmZo go Om{V Ho$ g§ñH$ma ~Z OmVo h¢ & BZH$mo àË`oH$ ì`pŠV AnZr {ZOr àH¥${V Ho$ AZwHy$b 
Ý`yZm{YH$ _mÌm _| n¡V¥H$ g§n{Îm Ho$ ê$n _| àmßV H$aVm h¡ & `o g§ñH$ma ì`pŠV Ho$ Kaoby OrdZ VWm gm_m{OH$ 
OrdZ _| n[ab{jV hmoVo h¢ & _Zwî` AHo$bm ahH$a ^r BZgo Nw>Q>H$mam Zht nm gH$Vm &
g§ñH¥${V H$m ~mø nj ^r hmoVm h¡ Am¡a Am§V[aH$ ^r & CgH$m ~mh²̀  nj Am§V[aH$ H$m à{V{~å~ Zht Vmo Cggo 
g§~§{YV Adí` ahVm h¡ & h_mao ~mh²̀  AmMma, h_mao {dMmam| Am¡a _Zmod¥{Îm`m| Ho$ n[aMm`H$ hmoVo h¢ & g§ñH¥${V EH$ 
Xoe-{deof H$s CnO hmoVr h¡, CgH$m g§~§Y Xoe Ho$ ^m¡{VH$ dmVmdaU Am¡a CgHo$ nm{bV, nmo{fV Ed§ n[ad{Õ©V 
{dMmam| go hmoVm h¡ &
^mfm g§ñH¥${V H$m A§J h¡, {\$a ^r dh h_mar OmVr` _Zmod¥{Îm H$s n[aMm{`H$m hmoVr h¡ &

 64. H$m¡Z-go {dH$ën dmbo eãX _| dUm] H$m H«$_ Ag§JV h¡ ?

 (A) ^m¡{VH$ = ^² Am¡ V² B H²$ A 
 (B) dmVmdaU = d² Am V² Am d² A a² A U² A 
 (C) n[aMm`H$ = n² A a² B M² Am `² A H²$ A 
 (D) _Zmod¥{Îm = _² A Z² Amo d² a² V² V² B
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65. ‘AmMma’ eãX h¡ 
(A) VËg_ (B) VX²^d (C) XoeO (D) {dXoer

66. ‘^mfm g§ñH¥${V H$m A§J h¡’ n§pŠV _| ‘^mfm’ eãX h¡ 
 (A) {H«$`mdmMH$ g§km   (B) ^mddmMH$ g§km 

(C) ì`pŠVdmMH$ g§km   (D) Om{VdmMH$ g§km

67. eãXH$moe _| H«$_ H$s ÑpîQ> go H$m¡Z-gm eãX A§V _| Am`oJm ?

(A) n[ab{jV (B) à{V{~å~ (C) àH¥${V (D) nj
68. ‘CgH$m ~mh²̀  nj Am§V[aH$ H$m à{V{~å~ Zht Vmo Cggo g§~§{YV Adí` ahVm h¡’ dmŠ` _| à ẁŠV ‘CgH$m ’ 

eãX h¡ 

(A) {H«$`m (B) {deofU (C) g§km (D) gd©Zm_
69. ‘gm_m{OH$’ eãX _| àË`` h¡ 

(A) A (B) AH$ (C) BH$ (D) H$
70. ‘g§ñH$mam| go {H$gr ì`pŠV AWdm Om{V H$m {dH$mg J{Vnyd©H$ hmoVm h¡’ dmŠ` _| à ẁŠV ‘J{Vnyd©H$’ eãX h¡ 

(A) ^mddmMH$ g§km   (B) {H«$`m {deofU 
(C) gmd©Zm{_H$ {deofU   (D) g§Ho$VdmMH$ gd©Zm_

71. ‘ Ý`yZm{YH$’ eãX _| g§{Y h¡ 
(A) XrK© (B) JwU (C) d¥{Õ (D) A`m{X

72. gX¡d nwpëb¨J Ho$ ê$n _| à`wŠV hmoZo dmbm eãX h¡ 
(A) _Zwî` (B) ^mfm (C) CnO (D) _Zmod¥{Îm

73. ‘àË`oH$’ eãX _| CngJ© h¡ 
(A) à (B) à{V (C) àV² (D) àVr

74. ‘Ka Ho$ ^rVa OmAmo’ dmŠ` _| H$m¡Z-gm {H«$`m {deofU à`wŠV hþAm h¡ ?
(A) H$mbdmMH$ (B) ñWmZdmMH$ (C) ar{VdmMH$ (D) n[a_mUdmMH$

75. ‘VZ na Zht bÎmm nmZ Im`o Ab~Îmm’ bmoH$mopŠV H$m {ZH$Q>V_ AW© dmbm {dH$ën h¡ 
 (A) _Zwî` H$m ahZ-ghZ CgH$s h¡{g`V go ~mha hmoZm & 
 (B) {OVZo H$m _mb Cggo Á`mXm ì`` H$aZm & 
 (C) A^mdJ«ñV hmoZo H$m àXe©Z H$aZm & 
 (D) nmZ ImZo H$m em¡H$sZ &
 76. Ñí`-lì` gmYZm| H$m JwU Zht h¡ 
 (A) BZHo$ à`moJ go grIZm ñWm`r hmo OmVm h¡ &
 (B) BZHo$ {Z_m©U _| YZ d g_` IM© hmoVm h¡ &
 (C) BZHo$ à`moJ go AZw^d H$s gr_m H$m {dñVma hmoVm h¡ & 
 (D) BZHo$ Cn`moJ go {ejU _| à^m{dVm Am OmVr h¡ &
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77. {H$ÊS>aJmS>©Z àUmbr Ho$ AmYma na H$m¡Z-gm H$WZ Ag§JV h¡ ?
(A) `h àUmbr ñdV§ÌVm Ho$ {gÕm§V na H$m`© H$aVr h¡ & 
(B) `h àUmbr kmZ H$mo ~mha go A§Xa XoZo Ho$ {gÕm§V na H$m`© H$aVr h¡ & 
(C) `h àUmbr gm_m{OH$ gh`moJ Ho$ {gÕm§V na H$m`© H$aVr h¡ & 
(D) àmW{_H$ ñVa Ho$ {dÜ`m{W©`m| Ho$ {bE A{YH$ Cn`moJr h¡ &

78. {b{IV narjm Cn`moJr h¡ 
(A) CƒmaU H$m¡eb _mnZ _| (B) ^mfm`r ì`dhma _mnZ _|
(C) ldU-H$m¡eb _mnZ _| (D) dV©Zr H$s ewÕVm _mnZ _|

79. ‘ {ejH$m| Zo H$hm {H$ do Ka Om aho h¢¡’ dmŠ` h¡ 

 (A) gmYmaU dmŠ` (B) g§`wŠV dmŠ` (C) {_l dmŠ` (D) AmkmW©H$ dmŠ`

80. ‘ MoVmdZr am My§JQ²>`m’ aMZm Ho$ aMZmH$ma h¢ 
(A) gy`©_„ _rgU   (B) Ho$garqgh ~mahR>
(C) S>m°. Zmam`Uqgh ^mQ>r  (D) ~mdOr MVwaqgh

81. ‘ ~o{gH$ {ejm àUmbr’ XoZ h¡ 
(A) nmH©$hñQ>© H$s   (B) \«$mo~ob H$s 
(C) _hmË_m Jm±Yr H$s   (D) _m[a`m _m°ÊQ>ogar H$s

82. {Z~§YmË_H$ àíZm| H$m JwU Zht h¡ 
(A) N>mÌm| H$mo ^mfm-e¡br Ed§ boIZ H$bm H$m kmZ hmoVm h¡ &
(B) ~mbH$m| H$s H$ënZm epŠV, ñ_aU epŠV, {díbofU Ed§ {dMma-epŠV H$m {dH$mg hmoVm h¡ &
(C) `o àíZ aMZmË_mH$ qMVZ H$mo àmoËgmhZ XoVo h¡ &
(D) BZgo N>mÌm| H$mo ^mdm{^ì`pŠV H$m Adga Zht {_bVm h¡ &

83. ‘A§J-A§J _wiH$Um¡’ amOñWmZr _whmdao H$m AW© h¡ 

(A) g^r A§J Xoe H$mo g_{n©V H$aZm (B) _yI© ~ZmZm 
(C) ha H$m_ _| ghm`Vm H$aZm (D) ~hþV àgÝZ hmoZm

84. gVV² Ed§ ì`mnH$ _yë`m§H$Z H$m JwU Zhr§ h¡ 
(A) N>mÌ df© ^a AÜ``Zerb ahVo h¢ &
(B) {ejH$ N>mÌm| H$mo Amdí`H$ {ZX©oeZ {ZaÝVa XoVo ahVo h¢ & 
(C) Bg àUmbr _| njnmV H$s g§^mdZm ahVr h¡ &
(D) A{^^mdH$ H$mo ~ƒm| H$s àJ{V H$s {ZaÝVa OmZH$mar hmoVr ahVr h¡ &

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


   (39) D

RL-2

85. nmR²>` nwñVH$m| Ho$ {df` _| Xmof H$hbmVm h¡ 
(A) é{M Ho$ {df`m| na AmYm[aV hmoZm 
(B) {ZYm©[aV CX²Xoí` H$mo nyU© H$aZo H$s àoaUm {dÚ_mZ hmoZm & 
(C) ^mfm H$m ñVamZwHy$b hmoZm & 
(D) Cg_| à`moOZhrZVm H$m hmoZm &

{ZX}e : {ZåZ{b{IV nÚm§e Ho$ AmYma na àíZ g§»`m 86 go 90 VH$ Ho$ CÎma Xr{OE &
`h ApÝV_ On, Ü`mZ _| XoIVo MaU `wJb 
am_ Zo ~‹T>m`m H$a boZo H$mo ZrbH$_b & 
Hw$N> bJm Z hmW, hþAm ghgm pñWa _Z M§Mb, 
Ü`mZ H$s ^y{_ go CVao, Imobo nbH$ {d_b & 
XoIm, dhm± [aŠV ñWmZ, `h On H$m nyU© g_`, 
AmgZ N>mo‹S>Zm A{g{Õ, ^a JE Z`ZÛ`, 
{YH²$ OrdZ H$mo Omo nmVm hr Am`m {damoY, 
{YH²$ gmYZ {OgHo$ {bE gXm hr {H$`m emoY 
OmZH$s! hm` CÕma {n«̀ m H$m hmo Z gH$m, 
dh EH$ Am¡a _Z ahm am_ H$m Omo Z WH$m & 
Omo Zht OmZVm X¡Ý`, Zht OmZVm {dZ`, 
H$a J`m ^oX dh _m`mdaU àmßV H$a O` &

86. nÚm§e _| am_ H$m H$m¡Z-gm ê$n C^a H$a gm_Zo Am`m h¡ ?
(A) _mZd (B) B©ída (C) XmZd (D) _m`mdr

87. {ZåZ{b{IV _| go _m`mdaU H$m ^oX {H$gZo {H$`m ?
(A) am_ Ho$ Vra Zo   (B) am_ Ho$ Am±gy Zo 
(C) am_ Ho$ {dZ` Zo   (D) am_ Ho$ _Z Zo

88. nÚm§e _| à`wŠV ^mfm H$s {deofVm h¡ 
(A) VX²^d eãXm| H$m ~mhþë` (B) VËg_ eãXm| H$m à`moJ 
(C) Am_ ~mobMmb H$s ^mfm (D) XrK© gm_m{gH$ ^mfm

89. nÚm§e Ho$ AmYma na Ag§JV H$WZ H$m M`Z H$s{OE  
(A) Ü`mZ_½Z am_ Xmo MaU XoI aho h¢ & 
(B) am_ H$m M§Mb _Z pñWa hmo J`m & 
(C) am_ Ho$ XmoZm| ZoÌ AlwnyU© hmo J`o & 
(D) am_ H$s MoVZm Ho$ ^rVa EH$ Amoa AMoVZ _Z Wm Omo A^r VH$ {Zame Zht hþAm Wm &

90. ‘OmZH$s ! hm` CÕma {à`m H$m hmo Z gH$m’ n§pŠV _| ^md h¡ 
 (A) K¥Um H$m (B) ^` H$m (C) níMmÎmmn H$m (D) H«$moY H$m
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SECTION – III
LANGUAGE – II

ENGLISH
There are 30 questions in all in this Section.

All questions are compulsory.

 61. ____________ drills are the excellent means of forming correct speech habits.
 (A)  pronunciation   (B) reading 
 (C)  substitution   (D) composition

 62. The new bold leader has been able to ______________ all opposition. Choose the 
correct idiom :

 (A)  bear with (B) bear up (C) bear down (D) bear out

 63. ‘Finger pointing’ – is related to 
 (A)  listening (B) reading habit (C) speaking habit (D) writing

 64. Acquiring language is a _____________ process. Choose the correct option :
 (A)  sub-conscious   (B) concession 
 (C)  drill   (D) adopted

 65. The idiomatic phrase ‘a cock and bull story’ means
 (A)  a bold story (B) a victory event (C) a real story (D) an unreal story

 66. The attributes of a good test are
 (A)  Validity (B) Reliability (C) Usability (D) All the three

 67. The correct pronunciation of the word ‘stone’ is
 (A)  /stͻ:n/ (B) /staun/ (C) /stʊ∂n/ (D) /st∂ʊn/

 68. He ran as fast as his legs allowed but he ___________ not catch the thief.
 (A)  can (B) may (C) could (D) might

 69. ‘Development of generic skills’ is one of the vital strategies of
 (A)  Testing (B) Evaluation (C) Assessment (D) Remedial teaching

 70. “The only person equipped to choose these text-books are school teachers who really 
know the fodder, suited to their fl ock.” This is quoted by

 (A)  V. K. Gokak (B) R. L. Mehta (C) Guy Boas (D) Otto Jesperson

 71. ‘Diff erent learning styles can be evaluated’ – is a merit of
 (A)  Group evaluation  (B) Cloze test 
 (C)  Rubrics   (D) Peer groups
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72. The poem composed by Oliver Goldsmith on the death of a mad dog is
 (A)  Elegy (B) Sonnet (C) Lyric (D) Ode

73. ‘Staff  ___________ be at their desks by 9:00 am.’ This was written on the notice board 
of an off ice.

 (A)  should (B) must (C) need (D) will

74. The principle of ___________ leaves a long lasting impression upon the child’s 
learning without the use of mother tongue.

 (A)  concreteness (B) proportion (C) naturalness (D) interest

75. The list of semi-vowels comprise
 (A)  s, z (B) j, w (C) h, l (D) m, n

76. The following tests help to ascertain the skill of aloud reading of the students
 (A)  Objective (B) New type (C) Oral (D) Written

77. Arousing, expectancy and incentive are the techniques of _________ principle.
 (A)  gradation (B) interest (C) motivation (D) concreteness

78. The English sonnet is also known as
 (A)  Shakespearen sonnet (B) Miltonic sonnet 
 (C)  Wordsworth sonnet (D) Coleridge sonnet

UNSEEN PROSE PASSAGE (Q.Nos. 79-83).
        It is in the small matters of conduct, in the observance of the rule of the road that we pass 
judgement upon ourselves and declare that we are civilised or uncivilized. The great moments 
of heroism and sacrifice are rare. It is the little habits of the common place intercourse that 
make up the great sum of life and sweeten or make bitter the journey.
79. People __________ the habit of passing the judgement in small things.

 (A) have  (B) is (C) had (D) are
80. Heroism and not sacrifi ced _________ rare.

 (A) are  (B) is (C) has (D) have
81. ‘The great moments of heroism and sacrifice are rare’, implies

 (A)  The war is over   
 (B) We need great moments to prove ourselves 
 (C)  We do not need great moments to prove ourselves   
 (D) Great time is now

82. ‘We are civilized or uncivilized’ the type of conjunction used here is
 (A) Co-ordinating    (B) Co-relative 
 (C) Subco-ordinating  (D) Temporal

83. The following can be an appropriate title for this passage. Choose the correct option :
 (A)  Civilisation (B) Heroism (C) Journey (D) Being civilised

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


D   (42) 

RL-2

84. ___________ is an example of /∂ʊ/ sound
 (A)  toil (B) boy (C) home (D) poor

85. ‘Language is always used in a context in a real life situation, in a conversation one 
constantly has to interpret what is being said’ – is a rationale of

 (A)  situational approach (B) communicative approach 
 (C)  project approach   (D) structural approach

UNSEEN POEM (Q.Nos. 86-90).
Good people all, of every sort
Give ear unto my song,
And if you fi nd Wondrous short
It cannot hold you long.
‘The wound it seem’d both sore and sad
To every Christian eye;
And while they swore the Dog was mad,
They swore the Man would die.
But soon a wonder came to light,
That show’d the rogues They lied;
The man recover’d of the bite,
The Dog was it that died.

86. ‘The man was good as us saint’  the literary device used in this line is
 (A) personifi cation    (B) simile 
 (C) assonance   (D) alliteration

87. ‘To every Christian eye;’ The literary device used here is
 (A)  Simile (B) Assonance (C) Alliteration (D) Metaphor

88. The rhyme scheme in the given stanzas is
 (A)  abcd (B) aabb (C) abab (D) abc abc

89. ‘It cannot hold you long’ the object used for personifi cation in this line is
 (A) dog (B) song (C) men (D) people

90. The line that has the use of alliteration is
 (A)  The wound it seem’d both sore and sad  
 (B)  But soon a wonder came to light
 (C)  They swore the Man would die   
 (D) The Dog was it that died
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IÊS> – III
^mfm – II ({ÛVr`m)

g§ñH¥$V_²
AÌ qÌeV² àíZm: gpÝV &

gd} àíZm: g_mYo`m: &

 61. “35’’ BË`ofm g§»`m g§ñH¥$Vo {bIV &

 (A) nÄMm{YH$Ì`_² (B) nÄMqde{V: (C) nÄMqÌe_² (D) nÄMqÌeV²

 62. “ B’’ BË`ñ` CÀMmaU§ ñWmZ§ ^d{V &
 (A) H$ÊR>: (B) XÝVm: (C) _yYm© (D) Vmbw

 63. Ñí` lì`gmYZ`mo: H$pñ_Z² Or. AmB©. Eg. AmB©. nÌH$g§`moOZo {df`dñVwZ: gdm©gw ^mfmgw ê$nmÝVa§ 
H$Vw©_{neŠ`Vo ?

 (A) g“UHo$ (B) àjonU`ÝÌo (C) _mZ{MÌo (D) ÜdÝ`{^boIZo

 64. “ àmV: 10 :15 dmXZo ~mbH$: eoVo’’ Apñ_Z² dmŠ`o aoIm{‘>V§g_`§ g§ñH¥$Vo {bIV &

 (A) XenÄMXedmXZo   (B) gnmXXedmXZo
 (C) gmÕ©XedmXZo   (D) nXmoZ²dmXZo

 65. “ ha~mQ>u`nÄMnXr’’ BË`ñ` {dH${gV {d{Y: H$: ?
 (A) _yë`m‘>Z{d{Y: (B) àË`j{d{Y: (C) ì`mH$aU{d{Y: (D) ì`m»`m{d{Y:

 66. AË`{YH${dídgZr`m, d¡Ym, ì`m{nH$m, ì`mdhm[aH$s VWm {_Vì``m H$m narjm ? `oZ ~mbH$: ñdën_od 
{bI{V

 (A) dñVw{ZîR>narjm   (B) {b{IVnarjm
 (C) àm`mo{JH$narjm   (D) _m¡{IH$narjm

 67. “ {nVm {^jwH$ H$mo YZ XoVm h¢’’ dmŠ`{_X§ g§ñH¥$Vo AZwdmX§ Hw$éV &

 (A) {nVm {^jH§$ YZ§ XXm{V & (B) {nVm {^jwH$m` YZ§ XXm{V &
 (C) {nVm {^jwH$ñ` YZ§ XXm{V & (D) {nÌm {^jwH$mV² YZ§ XXm{V &

 68. íbmoH$mZm§ ewÕmoÀMmaUmä`mgñ` H¥$Vo YmVwê$nmUm§ eãXê$nmUmÄM H$ÊRñWrH$aUm` qH$ ghm`H§$ lì`gmYZ§ 
^d{V ?

 (A) {MÌ{dñVmaH$`ÝÌ_²   (B) àjon`ÝÌ_²
 (C) ^mfmn{ÄOH$m   (D) dVw©bmH$maÜd{Z Jm«hH$ `ÝÌ_²

 69. N>mÌñ` Vrd«~wÕo: _yë`m‘>Z§ H$`m narj`m ^d{V ?
 (A) Ym[aV narj`m   (B) {b{IVnarj`m
 (C) ebmH$mnarj`m   (D) àm`mo{JH$narj`m
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 70. “ AZwñdmañ`’’ CÀMmaUñWmZ§ ^d{V &
(A) Zm{gH$m (B) H$ÊR>: (C) _yYm© (D) XÝVm:

 71. “ BH²$’’ àË`mhmañ` dUm©: ^dpÝV &
(A) B C E Eo (B) B C F$ b¥ (C) B C b¥ Amo (D) B Amo Eo Am¡

72. “ gd}JwUm: __________ Aml`pÝV’’ [aŠVñWmZ§ nya{`Ëdm gypŠV¨ g§`moO`V&

(A) AÝZ_² (B) Ob_² (C) H$mÄMZ_²  (D) {_Ì_²

{ZåZ{b{IV_n{R>V§ JÚm§e_mYmarH¥$Ë` àíZm: (73-77)
 g_mYo`m: -
 lo`gm_² A{^dmXZ§ _mZdñ` gmYmaUY_m}@pñV & Ahm©Um_² A{^dmXZoZ gÑe§ g§~b§ Zm@ñË`Ý`V² {Ìfw 

bmoHo$fw & A{^dmXZerbñ` H¥$Vo AmMmamo@`§ gwIgm¡^m½`mamo½`m{XgånX: H$ënd¥j Bd ñd`§ àXXm{V & A{^dmXZo 
{dZ`o M pñWVm§ _hVt epŠV¨ OmZÝV: gËnwéfm: OÝ_V: Ed gÝVVr: nyÁ`nyOm`¡ àoa`pÝV &

73. “ OÝ_V:’’ BË`Ì H$: àË``: ?
(A) V{gb² (B) V¥Z² (C) ŠV (D) V¥M²

 74. “ àXXm{V’’ BË`Ì H$: bH$ma: ?
(A) b¥Q²>bH$ma: (B) bmoQ²>bH$ma: (C) bQ²>bH$ma: (D) bL²>bH$ma:

75. “ AñË`Ý`V²’’ BË`Ì H$: gpÝY: ?
(A) A`m{XgpÝY: (B) nyd©ê$ngpÝY: (C) JwUgpÝY: (D) `U²gpÝY:

 76. “ _hVt epŠV¨ OmZÝV: gËnwéfm: OÝ_V: Ed-’’ Apñ_Z² dmŠ`o {deoî`nX_² ApñV
(A) _hVr_² (B) epŠV_² (C) OmZÝV: (D) OÝ_V:

77. “ gÝVVr:’’ BË`Ì H$m {d^pŠV: ?
(A) MVwWu (B) {ÛVr`m (C) nÄM_r (D) V¥Vr`m

78. gd}@{n{df`m: nañna§ gå~Õm: ^dpÝV & BË`Ì H$: {gÕmÝV: ?

(A) _m¡{IH$H$m`©{gÕmÝV:   (B) g_dm`{gÕmÝV:
(C) {H«$`merbVm{gÕmÝV:  (D) `moOZm{gÕmÝV:

79. AÝV:ñWm: dUm©: ^dpÝV
(A) e f g h (B) B C F$ b¥ (C) ` d a b (D) E Amo Eo Am¡

 80. “ Z¥n: __ Y_©gIm AmgrV²’’ dmŠ`{_X§ g§emoY`V &
(A) Z¥n: __ Y_©gI: AmgrV² & (B) Z¥n: _m_² Y_©gIm AmgrV² &
(C) Z¥n: __ Y_©g»`w: AmgrV² & (D) Z¥n: _`m Y_©©gIm AmgrV² &
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81. dmUrê$n§ ^mdàH$Q>__od {H$_² H$m¡eb_² CÀ`Vo ?
(A) nR>Z_² (B) ^mfU_² (C) ldU_² (D) boIZ_²

82. “`pñ_Z² {df`o N>mÌñ` A{YH$m ê${M^©d{V, g: V§ {df`§ nR>Zm` ào[aVmo ^d{V’’ B{V H$WZ§ H$ñ`  
{gÕmÝVñ` ?
(A) ê$Mo: {gÕmÝVñ`   (B) g_dm`{gÕmÝVñ`
(C) M`Z{gÕmÝVñ`   (D) _m¡{IH$H$m`©{gÕmÝVñ`

{ZåZ{b{IV_n{R>V§ íbmoH$_mYmarH¥$Ë` àíZm: (83-87) 
g_mYo`m: -
 àmMraVw“ H${n erf©H$ gpÝV H$f},
 pñWËdm jU§ Ñe_dmÄM` n{ü_m`m_² &
 ̀ Ìm{V{Z_©b -Va“dVr J^ram,
 VÝZr gwYm{da{MVod {d^m{V aoIm &&

 83. Cn`w©ŠVo íbmoHo$ qH$ N>ÝX: ?
(A) _m{bZr (B) {eadm©aUr (C) dgÝV{VbH$m (D) CnOm{V:

84. “ `Ìm{V{Z_©b - Va“dVr J^ram’’
Apñ_Z² nÚm§eo {deoî` nX§ {H$_² ?

(A) {Z_©b_² (B) J^ram (C) Va“dVr (D) `Ì

 85. “ pñWËdm’’ BË`Ì H$: àË``: ?
(A) ŠVdVw (B) Ëdm (C) pŠVZ² (D) ŠËdm

86. Cn`w©ŠVo íbmoHo$ H$: Ab§H$ma: ?
(A) Cn_m (B) `_H$: (C) {d^mdZm (D) íbof:

87. “ {da{MVod’’ BË`Ì H$: gpÝY: ?

(A) JwUgpÝY: (B) d¥{ÕgpÝY: (C) XrK©gpÝY: (D) naê$ngpÝY:

88. “ gm gX¡d nwñVH§$ nR>{V’’ dmŠ`{_X§ H$_©dmÀ`o n[adV©`V &
(A) Vo gX¡d nwñVH§$ nR²>`Vo & (B) Vm: gX¡d nwñVH$m{Z nR²>`Vo &
(C) VoZ gX¡d nwñVH§$ nR²>`Vo & (D) V`m gX¡d nwñVH§$ nR²>`Vo &

89. {Zajam: OZm: A{n Ho$Z H$m¡eboZ Ed ñdH$m`m©{U gmY`pÝV ?

(A) ^mfUoZ (B) nR>ZoZ (C) boIZoZ (D) nmR>ZoZ

 90. nÚ{ejU{d{Yfw ZmJÀN>{V 

(A) IÊS>mÝd`{d{Y: (B) ì`m»`m{d{Y: (C) XÊS>mÝd`{d{Y: (D) {ZJ_Z{d{Y:
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III – 
II – 

 (CXÿ© )

  .61
 16 : 16 (D) 14 : 14 (C) 14 : 16 (B) 16 : 14 (A)

  .62
  (D)  (C)  (B)  (A)

  .63
  (D)  (C)  (B)  (A)

  .64

  (D)  (C)  (B)  (A)

  .65
  (D)  (C)  (B)  (A) 

  .66

  (B)  (A)
  (D)  (C)

  .67
  (D)  (C)  (B)  (A)

  .68
    (B)     (A) 
    (D)    (C)

  .69

  (A)

  (B)

  (C) 

  (D)
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.70

 (B)   (A)  

 (D)  (C)

.71

 (B)  (A)

 (D)  (C)

.72
 (D)  (C)  (B)  (A)

.73
 (D)  (C)  (B)  (A)

.74
 (D)  (C)  (B)  (A)

.75

 (D)  (C)  (B)  (A)

.76

 (A)

 (B)  
 (C) 

 (D) 

.77

 (B)  (A) 
 (D)  (C)

.78
      (A)

    (B)  

    (C) 

    (D)
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.79

 (B)  (A)

 (D)  (C)

 .80

 (D)  (C)  (B)  (A)

.81

 (D)  (C)  (B)  (A)

.82

 (D)  (C)  (B)  (A)

.83

 (D)  (C)  (B)  (A)

.84

 (D)  (C)  (B)  (A)

.85

 (D)  (C)  (B)  (A)
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.86

 (D)  (C)  (B)  (A)

.87

 (D)  (C)  (B)  (A)

.88

 (D)  (C)  (B)  (A)

.89
 (D)  (C)  (B)  (A)

.90

 (D)  (C)  (B)  (A)
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 – III
– II

qgYr

 61. 
 (A)  (B)  (C)  (D) 

 62. 
 (A)  (B)  (C)  (D) 

 63. 
 (A)  (B)  (C)  (D) 

 64. 
 (A)    (B) 
 (C)   (D) 

 65. 
 (A)  (B)  (C)  (D) 

 66. 
 (A)    (B) 
 (C)    (D) 
 67. 
 1.  i. 
 2.  ii. 
 3.  iii. 
 4.  iv. 
 (A) 1-iv 2-i 3-ii 4-iii
 (B) 1-i 2-ii 3-iii 4-iv
 (C) 1-iv 2-iii 3-i 4-ii
 (D) 1-iv 2-iii 3-ii 4-i

 68. 
 (A)  (B)  (C)  (D) 
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69.
(A)  (B)  (C)  (D)

 70. 
 (A)  (B)  (C)  (D) 

 71. 
 (A)  (B)  (C)  (D) 
 72. 
 (A)  (B)  (C)  (D) 

 73. 
 (A)    (B) 
 (C)    (D) 

 74. 
 (A)  (B)  (C)  (D) 

 75. 

 (A)  (B)  (C)  (D) 

 76. 
 (A)  (B)  (C)  (D) 

 77. 
 i. 
 ii. 
 iii. 
 iv. 
 (A) iv, iii, i, ii (B) ii, iii, iv, i (C) i, ii, iii, iv (D) ii, i, iv, iii

 78. 
 (A)  (B)  (C)  (D) 

 79. 
 (A)    (B) 
 (C)    (D) 
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80.

 (A)   (B)  (C)  (D)  

81.

 (A)   (B)  (C)  (D) 

82.

 (A)   (B)  (C)  (D) 

83.

 (A)   

 (B) 

 (C)   

 (D) 

84.

 (A)   (B)  (C)  (D) 
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85.
(A)  (B)
(C)  (D)

 86.
(A)  (B)  (C)  (D)

87.
(A)  (B)  (C)  (D)

88.
(A)
(B)
(C)
(D)

89.
(A)    (B)
(C)    (D)

90.
(A)  (B)  (C)  (D)
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 – III
 – II

 ( n§Om~r)

 61. 
 (A)   (B)  (C)  (D) 

 62. 
 (A)   (B) 
 (C)   (D) 

 63. 
 (A)   
 (B)   
 (C)   
 (D) 

 64. 

 (A)     (B) 
 (C)     (D) 

 65.  :
 (A)   (B) 
 (C)   (D) 

 66. 

 (A)     (B)  
 (C)    (D) 

 67. :

 (A)   (B)  (C)  (D) 

 68.  

 (A)  (B)  (C)  (D)  
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69.  :
 (A)     (B) 
 (C)    (D) 

70.

 (A)   (B)  (C)  (D) 
71.

 (A)  (B)  
 (C)    (D)  

72. :
 (A)    (B) 
 (C)     (D)  

 

 73. 

 (A)   (B)  (C)  (D) 

 74. 
 (A)   (B)  (C)  (D) 

 75. 

 (A) 

 (B)  
 (C)   
 (D) 

 76. 
 (A)  (B)  (C)  (D) 
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 77. 

 (A)    (B) 
 (C)     (D) 
 78. 

 (A)   (B) 
 (C)     (D) 

79.

 (A)     (B) 
 (C)     (D) 
 80. 
 (A)  (B)  (C)  (D) 

 81. 

 (A)   (B) 
 (C)     (D) 

 82. 
 (A)    (B)   
 (C)    (D) 
 83.  :
 (A)     
 (B) 
 (C)    
 (D) 
 84. 
 (A)   (B) 
 (C)  (D) 
 85. 

 (A)    (B) 
 (C)    (D) 
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86.

 (A)  (B)  (C)  (D) 

87.

 (A)   (B)  
 (C)  (D)  

88.

 (A)  (B)  

 (C)   (D) 

89.
 (A)  (B)  (C)  (D) 

90.
 (A)   (B) 
 (C)   (D) 
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   (JwOamVr)>

 

 

 

 61. 
 (A)  (B)  (C)  (D) 

 62. 
 (A)    (B)  
 (C)    (D) 

 63. 
 (A)  (B)  (C)  (D) 
 64. 
 (A)    (B) 
 (C)    (D) 

 65. 

 (A)  (B)  (C)  (D) 

 66. 
 (A)  (B)  (C)  (D) 

 67. 

 (A)  (B)  (C)  (D) 
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68.
 (A)  (B)  (C)  (D) 

 69. 
 (A)   (B)
 (C)  (D) 

 70. 
 (A)   (B)  (C)  (D) 

 71. 

 (A)  (B)  (C)  (D) 
 72. 
 (A)  (B) 
 (C)  (D) 
 73. 
 (A)  (B) 
 (C)  (D) 
 74. 
 (A)  (B) 
 (C)   (D) 

 75. 
 (A)  (B)  (C)  (D) 
 76. 
 (A) 
 (B) 
 (C) 
 (D) 

 77. 
 (A)  (B) 
 (C)  (D) 
 78. 

 (A)  (B)  (C)  (D) 

 79. 
 (A)  (B)  (C)  (D) 
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80.

 (A)  (B)  (C)  (D)
81.

(A)  (B)  (C)  (D)
82.

(A)  (B)
(C)    (D)

83.
(A)  (B)  (C)  (D)

84.
(A)    (B)
(C)    (D)

85.
(A)  (B)  (C)  (D)

86.

(A)  (B)  (C)  (D)
87.

(A)  (B)  (C)  (D)
88.

(A) (B)
(C)  (D)

89.
(A)  (B)  (C)  (D)

90.
(A)  (B)  (C)  (D)
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SECTION – IV/ IÊS> – IV
In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and IV(b) 
Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each. 
The candidate has to choose either IV(a) Mathematics and Science OR IV(b) Social Studies 
as selected in the Online Application Form and answer all the 60 questions.
Bg IÊS> _| Xmo CnIÊS> AWm©V² IV(a) J{UV Ed§ {dkmZ Ed§ IV(b) gm_m{OH$ AÜ``Z h¢ & XmoZm| CnIÊS>m| Ho$ 
àË`oH$ _| 60 ~hþ{dH$ënr` àíZ h¢ &
Aä`Wu H$mo IV(a) J{UV  Ed§ {dkmZ AWdm IV(b) gm_m{OH$ AÜ``Z, {OZH$m M`Z Am°ZbmBZ AmdoXZ-nÌ 
_| {H$`m h¡, _| go {H$gr EH$ CnIÊS> H$mo MwZZm h¡ Ed§ g^r 60 àíZm| H$m CÎma XoZm h¡ &

SECTION – IV(a)/ IÊS> – IV(a)
MATHEMATICS AND SCIENCE/ J{UV  Ed§ {dkmZ

There are 60 questions in all in this section. The candidates who have selected this subject must 
answer all the questions.
Bg IÊS> _| Hw$b 60 àíZ h¢ & {OZ Aä`{W©̀ m| Zo Bg {df` H$m M`Z {H$`m h¡ CÝh| g^r àíZ H$aZm A{Zdm ©̀ h¡ &

 91. The probability of a certain event will be

 (A)  1 (B) 0 (C) 
1
2  (D) 

1
3

   {ZpíMV KQ>Zm H$s àm{`H$Vm hmoJr

 (A)  1 (B) 0 (C) 
1
2  (D) 

1
3

 92. In given fi gure PQ||SR and PS⊥PQ. If  PQ = 11 cm, PS = 8 cm and QR = 10 cm then 
area of fi gure PQRS will be

S R

P Q

8 cm 10 cm

11 cm
 (A) 32 cm2 (B) 64 cm2 (C) 72 cm2 (D) 44 cm2 
  Xr JB© AmH¥${V _| PQ||SR VWm PS⊥PQ h¡ & `{X PQ = 11 go_r, PS = 8  go_r VWm  

QR = 10 go_r hmo Vmo AmH¥${V PQRS H$m joÌ\$b hmoJm
S R

P Q

8 go_r 10 go_r

11 go_r
 (A) 32 go_r2 (B) 64 go_r2 (C) 72 go_r2 (D) 44 go_r2

  Xr JB© AmH¥${V _| 
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93. The smallest number that can be expressed as a sum of two cubes in two diff erent ways 
in the followings

 (A) 1729 (B) 1728 (C) 1331 (D) 1332

  {ZåZ _|$go g~go N>moQ>r g§»`m {Ogo Xmo KZm| Ho$ `moJ Ho$ ê$n _| Xmo {^Þ àH$mam| go ì`ŠV {H$`m Om  
gH$Vm h¡ 

 (A) 1729 (B) 1728 (C) 1331 (D) 1332

94. The probability of getting a prime number on its upper face, in one toss of a dice  
will be

 (A) 
1
2  (B) 

2
3

 (C) 
1
3

 (D) 
5
6

  EH$ nmgo Ho$ EH$ CN>mb _| CgHo$ D$nar \$bH$ na EH$ A^mÁ` g§»`m àmßV hmoZo H$s àm{`H$Vm hmoJr

 (A) 
1
2  (B) 

2
3

 (C) 
1
3

 (D) 
5
6

95. If a student get same 52 marks out of 100 awarded by diff erent examiners in a test of 
mathematics, this shows which characteristics of evaluation ?

 (A) Validity (B) Reliability (C) Practicability (D) Objectivity
  `{X EH$ {dÚmWu AbJ-AbJ narjH$m| go J{UV Ho$ narjU _| 100 _| go 52 A§H$ àmßV H$aVm h¡, `h 

narjU H$s H$m¡Z-gr {deofVm Xem©Vm h¡ ? 
(A) d¡YVm (B) {dídgZr`Vm (C) gmÜ`Vm (D) dñVw{ZîR>Vm

96. In how much time will the interest on Rs. 1,000 be Rs. 440 at the rate of 20% annual 
compound interest ?

 (A) 1 year   (B) 2 year 
 (C) 3 year   (D) 2 year 6 month

  {H$VZo g_` _o§ 20% dm{f©H$ MH«$d¥{Õ ã`mO H$s Xa go 1,000 én`o H$m ã`mO 440 én`o hmoJm ?
 (A) 1 df©    (B) 2 df©   
 (C) 3 df©     (D) 2 df© 6  _mh

97. What is the main root of ‘tree of knowledge’ ?
 (A) Botany (B) Zoology (C) Mathematics (D) Geology

  ‘kmZ Ho$ d¥j’ H$s _w»` O‹S> Š`m h¡ ? 
(A) dZñn{V {dkmZ (B) àm{U {dkmZ (C) J{UV (D) ^y{dkmZ

  {ZåZ _|$go g~go N>moQ>r g§»`m {Ogo Xmo KZm| Ho$ `moJ Ho$ ê$n _| Xmo {^Þ àH$mam| go ì`ŠV {H$`m Om  

  EH$ nmgo Ho$ EH$ CN>mb _| CgHo$ D$nar \$bH$ na EH$ A^mÁ` g§»`m àmßV hmoZo H$s àm{`H$Vm hmoJr

  `{X EH$ {dÚmWu AbJ-AbJ narjH$m| go J{UV Ho$ narjU _| 
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98. The side of the cube made by melting cubes of sides 3 cm, 4 cm, 5 cm will be
 (A) 12 cm (B) 6 cm (C) 216 cm (D) 50 cm

  3 go_r,  4 go_r, 5 go_r KZm| H$mo [nKbm H$a ~ZmE JE KZ H$s ^wOm hmoJr 
 (A) 12 go_r (B) 6 go_r (C) 216 go_r (D) 50 go_r

99. To overcome the boredom of maths teaching in lower classes, the teaching method  is used 
 (A) Inductive method  (B) Synthetic method
 (C) Games and recreative method (D) Analytic method

  N>moQ>r H$jmAm| _| J{UV H$s ZragVm H$mo Xÿa H$aZo Ho$ {bE Cn`wŠV {ejU {d{Y h¡ 
(A) AmJ_Z {d{Y   (B) g§íbofU {d{Y
(C) Iob Ed§ _Zmoa§OZ {d{Y (D) {díbofU {d{Y

100. Solution of 2 0 8.( ) is 

 (A) 016.  (B) 017.  (C) 1 6.  (D) 1 7.

  2 0 8.( ) H$m hb h¡

 (A) 016.  (B) 017.  (C) 1 6.  (D) 1 7.

101. How long should the process of remedial teaching continue ?
 (A) Until the student is interested
 (B) As long as you have time in school
 (C) Until another teacher comes to class
 (D) Until the lackness of students is not removed
  CnMmamË_H$ {ejU H$s à{H«$`m H$~ VH$ MbVr ahZr Mm{hE ?

(A) O~ VH$ N>mÌ é{M Zm b| 
(B) O~ VH$ {dÚmb` _| g_` {_bo
(C) O~ VH$ AÝ` AÜ`mnH$ H$jm _| Zht AmE
(D) O~ VH$ N>mÌm| H$s H$_r Xÿa Zm hmo

102. How many lines of symmetry are there for a square  ?
 (A) 2 (B) 8 (C) 4 (D) 6

  EH$ dJ© Ho$ {bE {H$VZr g_{_{V aoImE± hmoJr ?
 (A) 2 (B) 8 (C) 4 (D) 6

103. Square root of 7 4 3+  is 

 (A) 2 3+  (B) 2 3−  (C) 4 2 3+  (D) 61 28 3+

  7 4 3+ H$m dJ©_yb h¡ 

 (A) 2 3+  (B) 2 3−  (C) 4 2 3+  (D) 61 28 3+

  CnMmamË_H$ {ejU H$s à{H«$`m H$~ VH$ MbVr ahZr Mm{hE ?
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104. Which statement is not correct for remedial teaching measures in mathematics ?
 (A) Remedies of shortcomings should be done immediately
 (B) The weak students should be asked to sit on back seats
 (C) The students should be given individual counselling
 (D) The concepts should be made clear by using teaching aids
  J{UV _| CnMmamË_H$ {ejU Cnm`m| Ho$ {bE H$m¡Z-gm H$WZ ghr Zht h¡ ?

(A) H${_`m| H$m {ZamH$aU erK« {H$`m OmE
(B) H$_Omoa {dÚm{W©`m| H$mo nrN>o H$s grQ> na ~¡R>Zo Ho$ {bE H$hZm Mm{hE
(C) N>mÌm| H$mo ì`pŠVJV nam_e© {X`m OmZm Mm{hE

(D) {ejU ghm`H$ gm_J«r H$m Cn`moJ H$aHo$ AdYmaUmAm| H$mo ñnîQ> {H$`m OmZm Mm{hE

105. Arrangement in ascending order of 3
7

2
9

5
11

1
4

, , , is

 (A) 
5

11
3
7

1
4

2
9

, , ,    

 (B) 2
9

1
4

3
7

5
11

, , ,

 (C) 
3
7

5
11

1
4

2
9

, , ,    

 (D) 
2
9

1
4

5
11

3
7

, , ,

  
3
7

2
9

5
11

1
4

, , , H$m Amamohr H«$_ {dÝ`mg h¡ 

 (A) 
5

11
3
7

1
4

2
9

, , ,    

 (B) 2
9

1
4

3
7

5
11
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 (C) 
3
7

5
11

1
4

2
9

, , ,    

 (D) 
2
9

1
4

5
11

3
7

, , ,
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106. Using the given Bar diagram answer that which domestic animal is the most popular after 
cows

D
og

s

C
ow

s

G
oa

ts

R
ab

bi
ts

C
at

s

N
o.

 o
f p

et
 a

ni
m

al
s

 (A) Cats (B) Rabbits (C) Goats (D) Dogs

  {X`o J`o X§S> AmaoI H$m Cn`moJ H$aHo$ CÎma Xr{OE {H$ Jm` Ho$ ~mX H$m¡Z-gm nmbVw OmZda gdm©{YH$ 
bmoH${à` h¡

Hw$
Îmo§

nm
b
Vw 

O
mZ
da

m| 
H$
s 
g§»

`m

Jm
`|

~H
$[a

`m
±

I
aJ

moe

{~
ëb

r`
m±

 (A) {~pëb`m± (B) IaJmoe (C) ~H$[a`m± (D) Hw$Îmo
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107. In given fi gure PQ⊥PS, PQ||SR, ∠SQR= 28° and ∠QRT = 65°, then the value of x is 

S R T

P Q

x
28°

65°

 (A) 37° (B) 93° (C) 53° (D) 56°

  Xr JB© AmH¥${V _| PQ⊥PS, PQ||SR, ∠SQR= 28° VWm ∠QRT = 65° Vmo x H$m _mZ h¡

S R T

P Q

x
28°

65°

 (A) 37° (B) 93° (C) 53° (D) 56°

108. “Fact is an empirically verifiable observation”. This statement is given by

 (A) Good and Hatt   (B) John Dewey
 (C) Yong   (D) Herbert
  “VÏ` EH$ AZw^dm{lV gË`mnZr` àojUhr h¡ &” `h H$WZ {X`m

 (A) JwS> E§S> hoQ>   (B) Om°Z S>rdr

(C) `§J   (D) ha~Q>©

109. In how much time will a sum of money doubles at 15% annual simple interest rate ?
 (A) 13 years 4 months  (B) 13 years 3 months 
 (C) 6 years 8 months   (D) 6 years 9 months

  {H$VZo g_` _o§ H$moB© YZ H$m Hw$b am{e `moJ 15% dm{f©H$ gmYmaU ã`mO H$s Xa go XþJwZm hmo OmEJm ?

 (A) 13 df© 4 _mh   (B) 13 df©  3 _mh 
 (C) 6 df©  8 _mh   (D) 6 df©  9 _mh

  Xr JB© AmH¥${V _| 

  {H$VZo g_` _o§ H$moB© YZ H$m Hw$b am{e `moJ 
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110. The given pie chart shows the savings and expenditure on various items of a family in 
a month. If the monthly savings of family is Rs. 3,000, then the expenditure of food 
will be

 Food

 Clothes

 Savings Others

Transport 

Rent 

Education

15%

10%
25%

10% 
20%

15%

5%

 (A) Rs. 2,500 (B) Rs. 3,000 (C) Rs. 5,000 (D) Rs. 20,000

  {X`m J`m nmB© MmQ>© EH$ n[adma Ho$ EH$ _mh _| ~MV VWm {d{^Þ _Xm| na ì`` Xem©Vm h¡ & `{X n[adma 
H$s _m{gH$ ~MV  3,000 én`o hmo Vmo ^moOZ na ì`` hmoJm

^moOZ

 H$n‹S>o

~MV AÝ`

n[adhZ 

{H$am`m

{ejm

15%

10%
25%

10% 
20%

15%

5%

 (A) 2,500 én`o (B) 3,000 én`o (C) 5,000 én`o (D) 20,000 én`o

111. The nature of mathematics is
 (A) It is logical   (B) It is hard
 (C) It is metaphorical  (D) This is not for average students
  J{UV H$s àH¥${V h¡ 

(A) `h Vm{H©$H$ h¡   (B) `h H${R>Z h¡
(C) `h Ab§H$m[aH$ h¡   (D) `h Am¡gV {dÚm{W©`m| Ho$ {bE Zht h¡

112. What is the value of  64 64 32
2
3 3

3
2 5 0( ) + ( ) + ( )  ?

 (A)  14 (B) 194 (C) 193 (D) 13

  64 64 32
2
3 3

3
2 5 0( ) + ( ) + ( ) H$m Š`m _mZ h¡ ?

 (A)  14 (B) 194 (C) 193 (D) 13

  {X`m J`m nmB© MmQ>© EH$ n[adma Ho$ EH$ _mh _| ~MV VWm {d{^Þ _Xm| na ì`` Xem©Vm h¡ & `{X n[adma 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


D   (68) 

RL-2

113. If each exterior angle of a regular polygon is 2
7

of its interior angle, then its number of 
sides will be

 (A) 10 (B) 12 (C) 8 (D) 9

  {H$gr g_~hþ^wO H$m àË`oH$ ~{hîH$moU, CgHo$ AÝV:H$moU H$m 
2
7
^mJ h¡, Vmo CgH$s ^wOmAm| H$s g§»`m 

hmoJr 
 (A) 10 (B) 12 (C) 8 (D) 9

114. While introducing the concept of multiplication a teacher of  class II started with a 
word problem like “There are 3 members in a family and if each member needs 4 
roties for lunch, how many roties are required in total ?” What is the main purpose 
of such word problems for introducing the concept ?

 (A) To enhance the communication skills of children
 (B) To develop the ability to relate real situations to mathematical problems
 (C) To integrate mathematics and language classes
 (D) To focus only on developing mathematical language in students
  JwUZ H$s AdYmaUm H$m n[aM` XoVo hþE H$jm II H$m EH$ AÜ`mnH$ EH$ empãXH$ g_ñ`m go 

Amaå^ H$aVm h¡ {H$ “EH$ n[adma _| 3 gXñ` h¡ Am¡a àË`oH$ gXñ` H$mo Xmonha ^moOZ _| 4 amoQ>r 
H$s Amdí`H$Vm h¡, Vmo Hw$b {H$VZr amo{Q>`m| H$s Amdí`H$Vm hmoJr ?” AdYmaUm Ho$ n[aM` Ho$ 
{bE Bg àH$ma H$s empãXH$ g_ñ`mAm| H$m Š`m _w»` CÔoí` h¡ ?
(A) ~ÀMm| Ho$ g§MmaU H$m¡eb _| d¥{Õ H$aZm
(B) dmñV{dH$ n[apñW{V`m| H$m J{UVr` g_ñ`mAm| go g§`moOZ H$aZo H$s gm_Ï`© H$mo {dH${gV H$aZm
(C) J{UV Am¡a ^mfm H$s H$jmAm| H$m g_mH$bZ H$aZm
(D) N>mÌm| _| Ho$db J{UVr` ^mfm H$mo {dH${gV H$aZo na Ü`mZ Ho$pÝÐV H$aZm 

115. 20% of 
1
2

 + 30% of 
1
3

 is equal to

 (A) 50% of 
5
6

 (B) 40% of 
1
4

 (C) 50% of 
1
5

 (D) 50% of 
2
5

  
1
2

H$m 20%  + 
1
3

  H$m 30% ~am~a h¡

 (A) 
5
6

  H$m 50% (B) 
1
4

H$m 40% (C) 
1
5

H$m 50%  (D)  
2
5

  H$m 50%

116. The main purpose of ‘Work book’ is to
 (A) Provide opportunities for practice (B) Evaluation
 (C) Make student busy  (D) Reduce teacher’s burden
  ‘H$m`©nwpñVH$m’ H$m _w»` CÔoí` h¡ 
 (A) Aä`mg Ho$ Adga XoZm (B) _yë`m§H$Z

(C) N>mÌm| H$mo ì`ñV aIZm  (D) {ejH$m| H$m ~moP H$_ H$aZm

  {H$gr g_~hþ^wO H$m àË`oH$ ~{hîH$moU, CgHo$ AÝV:H$moU H$m 

  JwUZ H$s AdYmaUm H$m n[aM` XoVo hþE H$jm 
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117. The curved surface area of the largest cylinder that can be made by cutting from a cube 
of side 8 cm will be

 (A) 32π cm2 (B) 64π cm2 (C) 128π cm2 (D) 16π cm2 
  {H$gr 8 go_r ^wOm dmbo KZ go H$mQ>H$a ~ZmE| Om gH$Zo dmbo ~‹S>o go ~‹S>o ~obZ Ho$ dH«$n¥îQ> H$m joÌ\$b 

hmoJm 
 (A) 32π go_r2 (B) 64π go_r2 (C) 128π go_r2 (D) 16π go_r2

118. x3+ y3 is equal to
 (A) (x + y) (x2 + xy + y2) (B) (x – y) (x2 + xy + y2)
 (C) (x + y) (x2 – xy + y2) (D) (x + y) (x2 + xy – y2)
  x3+ y3  Ho$ ~am~a h¡ 
 (A) (x + y) (x2 + xy + y2) (B) (x – y) (x2 + xy + y2)
 (C) (x + y) (x2 – xy + y2) (D) (x + y) (x2 + xy – y2)

119. The “blueprint” in assessment in mathematics teaching is
 (A) Foundation stone of school
 (B) Foundation stone of question paper preparation
 (C) Foundation stone of teaching
 (D) Foundation stone of students
  J{UV {ejU _| _yë`m§H$Z _| “ãbyqàQ>” h¡ 
 (A) {dÚmb` H$s AmYma{ebm
 (B) àíZ nÌ {Z_m©U H$s AmYma{ebm 
 (C) {ejU H$s AmYma{ebm
 (D) N>mÌm| H$s AmYma{ebm
 120. John buys an old fridge and after getting it repaired for Rs. 1,500 and selling it for 

Rs. 8,100, he gets a loss of 10%. Then for how much did he buy the fridge ?
 (A) Rs. 7,500 (B) Rs. 9,000 (C) Rs. 10,500 (D) Rs. 8,250
  Om°Z Zo EH$ nwamZm {\«$O IarXm Am¡a Cgo 1,500 én`o _| _aå_V H$amH$a 8,100 én`o _| ~oMZo na Cgo 

10% H$s hm{Z hþB©, Vmo CgZo {\«$O {H$VZo _| IarXm Wm ?
 (A) 7,500 én`o (B) 9,000 én`o (C) 10,500 én`o (D) 8,250 én`o

121. He was the fi rst scientist who observed that when current fl ows in a conductor wire, there 
is a defl ection in the magnetic needle placed near it. His name is 

 (A) Michael Faraday   (B) Andre Marie Ampere
 (C) Hans Christian Orsted  (D) Heinrich Friedric Emil Lenz

  do Eogo nhbo d¡km{ZH$ Wo, {OÝhmoZ| `h XoIm {H$ O~ {H$gr MmbH$ Vma _| Ymam àdm{hV hmoVr h¡ Vmo CgHo$ 
nmg aIr Mwå~H$s` gwB© _| {djon hmoVm h¡ & CZH$m Zm_ h¡

(A) _mBH$b \¡$amS>o   (B) AmÝÐo _oar Eånr`a
(C) h¢g {H«$píM`Z Am°ñQ>}S>  (D) hoZ[aH$ \«o${S´>H$ E{_b b|O

  {H$gr 

  

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


D   (70) 

RL-2

122. Natural disaster by which many people are aff ected on 26 January 2001 in Bhuj 
city of Gujarat is 

 (A) Volcano (B) Earth quake (C) Flood  (D) Lightning

  JwOamV Ho$ ^wO eha _| 26 OZdar 2001 H$mo K{Q>V àmH¥${VH$ ÌmgXr {Oggo AZoH$ ì`pŠV  
à^m{dV hþE 
(A) Ádmbm_wIr  (B) ^yH$ån (C) ~m‹T> (D) V{‹S>V

123. Cell organelles, which diff erentiate plant cell from animal cell

 (A) Plastids (B) Vacuoles (C) Mitochondria (D) Golgi Apparatus 

  nmXn H$mo{eH$m H$mo O§Vw H$mo{eH$m go AbJ H$aZo dmbm H$mo{eH$m A§JH$ h¡   
(A) ßb¡pñQ>S> (B) agYm{Z`m± (C) _mBQ>moH$m°pÝS´>`m (D) Jm°ëOr CnH$aU

124. The appropriate method to separate mixture of two soluble liquids is 

 (A) Distillation   (B) Sublimation 

 (C) Evaporation   (D) Separating Funnel

  Xmo KwbZerb Ðdm| Ho$ {_lU H$mo n¥WH²$ H$aZo H$s Cn`wŠV {d{Y h¡  
(A) AmgdZ   (B) CÜd©nmVZ 
(C) dmînrH$aU   (D) n¥WŠH$mar H$sn

125. Black deer is the main wild animal of which wild life sanctuary ? 

 (A) Sariska (B) Talchhappar (C) Kailadevi (D) Sitamata

  H$mbm {haU H$m¡Z-go dÝ` Ord A^`maÊ` H$m à_wI dÝ` Ord h¡ ?  
(A) g[añH$m (B) VmbN>mna (C) H¡$bmXodr (D) grVm_mVm

126. Chemical equation of ‘Chlor-alkali’ process is 
 (A) Ca(OH)2 + Cl2 → CaOCl2 + H2O
 (B) NaCl + H2O + CO2 + NH3 → NH4Cl + NaHCO3
 (C) Na2CO3 + 2HCl → 2NaCl + H2O + CO2
 (D) 2NaCl + 2H2O → 2NaOH + Cl2 + H2
  ‘Šbmoa-jma’ à{H«$`m H$s amgm`{ZH$ g_rH$aU h¡ 
 (A) Ca(OH)2 + Cl2 → CaOCl2 + H2O
 (B) NaCl + H2O + CO2 + NH3 → NH4Cl + NaHCO3
 (C) Na2CO3 + 2HCl → 2NaCl + H2O + CO2
 (D) 2NaCl + 2H2O → 2NaOH + Cl2 + H2

  J

 (C) Evaporation   (D) Separating Funnel

  Xmo KwbZerb Ðdm| Ho$ {_lU H$mo n¥WH²$ H$aZo H$s Cn`wŠV {d{Y h¡  
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127. If the time period of vibrations of the wings of a mosquito is 0.005 seconds, then the 
frequency of vibrations of its wings will be 

 (A) 200 Hz (B) 2000 Hz  (C) 500 Hz (D) 5000 Hz 

  EH$ _ÀN>a Ho$ n§Im| Ho$ H$ånZ H$m AmdV©H$mb 0.005 goH$ÊS> h¡, Vmo CgHo$ n§Imo§ Ho$ H$ånZ H$s Amd¥{Îm 
hmoJr  

 (A) 200 Hz (B) 2000 Hz  (C) 500 Hz (D) 5000 Hz 

128. Which teaching-aids are included in the audio-visual aids ?

 (A) Movie (B) Radio (C) Model (D) Gramophone

  H$m¡Z-gr {ejU-ghm`H$ gm_J«r Ñí`-lì` gm_J«r _| gpå_{bV h¡ ?   

(A) Mb{MÌ (B) ao{S>`mo (C) _m°S>b (D) J«m_mo\$moZ

129. Two statements are given below
 i. When a plastic straw is rubbed with polythene it becomes negatively charged.
 ii. When a glass rod is rubbed with silk, it becomes negatively charged.

  Then the false statements is/are
 (A) Only (i)   (B) Only (ii) 
 (C) (i) and (ii) both   (D) None of the above

  {ZåZmZwgma Xmo H$WZ {XE J`o h¢   

i. ßbmpñQ>H$ ñQ´>m° H$mo nm°{bWrZ go aJ‹S>Zo na dh F$Umdo{eV hmo OmVr h¡ &

ii. H$m±M H$s N>‹S> H$mo aoe_ go aJ‹S>Zo na dh F$Umdo{eV hmo OmVr h¡ &

  Vmo JbV H$WZ h¡/h¢   
(A) Ho$db (i)   (B) Ho$db (ii)
(C) (i) d (ii) XmoZm§o   (D) CnamoŠV _| go H$moB© Zht

130. During respiration which molecule is formed in the fi rst step of break down of 
glucose.

 (A) Ethanol    (B) Pyruvate 

 (C) Lactic acid   (D) Carbon dioxide

  ídgZ Ho$ Xm¡amZ ½byH$mog Ho$ {dI§S>Z Ho$ àW_ MaU _| ~ZZo dmbm AUw h¡    

(A) BWoZm°b   (B) nm`édoQ>

(C) b¡pŠQ>H$ Aåb   (D) H$m~©Z-S>mBAm°ŠgmBS>

  EH$ _ÀN>a Ho$ n§Im| Ho$ H$ånZ H$m AmdV©H$mb 

 i. When a plastic straw is rubbed with polythene it becomes negatively charged.
 ii. When a glass rod is rubbed with silk, it becomes negatively charged.
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131. Mode of reproduction in plasmodium is 
 (A) Binary fi ssion   (B) Multiple fi ssion
 (C) Regeneration    (D) Budding
  ßb¡Á_mo{S>`_ _§o OZZ H$s {d{Y h¡    

(A) {ÛI§S>Z   (B) ~hþI§S>Z
(C) nwZéX²²^dZ   (D) _wHw$bZ

132. Two plane mirrors X and Y are placed perpendicular to each other. A ray of light is incident 
on mirror X at an angle of 300, as shown in fi gure below. Then the angle of refl ected ray 
for mirror Y with the incident ray for the same mirror Y will be 

  

X

Y 30°

 (A) 300 (B) 600 (C) 900 (D) 1200

  Xmo g_Vb Xn©U X d Y EH$-Xÿgao Ho$ bå~dV aIo h¢ & àH$me H$s EH$ {H$aU Xn©U X na 300 Ho$ H$moU 
na Amn{VV h¡, O¡gm {H$ ZrMo {MÌ _| Xem©`m J`m h¡ & Vmo Xÿgao Xn©U Y go namd{V©V hmoZo dmbr {H$aU 
H$m Cgr Xn©U Y na Amn{VV {H$aU go H$moU hmoJm  

  

X

Y 30°

 (A) 300 (B) 600 (C) 900 (D) 1200

  Xmo g_Vb Xn©U 
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133. Which of the following greenhouse gas does not contribute in global warming ?
 (A) Carbondioxide   (B) Methane
 (C) Nitrousoxide   (D) Nitrogen

  {ZåZ{b{IV _| go H$m¡Z-gr J«rZhmCg J¡g d¡pídH$ D$î_rH$aU _| `moJXmZ Zht XoVr h¡ ?   
(A) H$m~©ZS>mBAm°ŠgmBS>   (B) _rWoZ

(C) ZmBQ´>gAm°ŠgmBS>   (D) ZmBQ´>moOZ

134. An example of fungus used in making antibiotics
 (A) Mucor (B) Rhizopus (C) Penicillium (D) Puccinia

  H$dH$ H$m CXmhaU {OgH$m Cn`moJ à{VO¡{dH$ Ho$ {Z_m©U _§o hmoVm h¡   
(A) å`yH$a (B) amBOmong (C) no{Z{g{b`_ (D) npŠg{Z`m

135. ‘‘ Project is a whole-hearted purposeful activity proceeding in a social environment.’’
  Which pedagogue gave this statement ?
 (A) John Dewey   (B) Sigmund Freud
 (C) Jean Piaget   (D) William Heard Kilpatrick

  ‘‘àmoOoŠQ> (n[a`moOZm) dh gà`moOZ J{V{d{Y h¡, Omo nyU©-_Zmo`moJ Ho$ gmW gm_m{OH$ dmVmdaU _o§ H$s 
Om`o &’’ 

  `h H$WZ {H$g {ejmemñÌr Zo {X`m ?  
(A) Om°Z S>odr   (B) {gJ_§S \«y$`S>
(C) OrZ {n`mOo   (D) {d{b`_ hS>© {H$bn¡{Q´>H$ 

136. Reason are not for ground water crisis 
 (A) Pollution of water-sources (B) Over exploitation of ground-water 
 (C) Rain-water harvesting (D) Neglecting of traditional sources

  ^y-Ob g§H$Q> H$m H$maU Zht h¡   
(A) Ob-òmoVm| H$m àXÿfU  (B) ^y-Ob H$m A{VXmohZ
(C) dfm©-Ob g§M`Z   (D) nmaån[aH$ òmoVm| H$s Cnojm

137. ‘Student is able to diff erentiate in between acid and base.’  This statement shows 
which learning objective ?

 (A) Analysis (B) Knowledge (C) Application (D) Skill

  ‘{dÚmWu Aåb d jma Ho$ _Ü` AÝVa H$a gHo$Jm &’ `h H$WZ H$m¡Z-go A{YJ_ CÔoí` H$mo àX{e©V 
H$aVm h¡ ? 
(A) {díbofU (B) kmZ (C) kmZmon`moJ (D) H$m¡eb

gr J«rZhmCg J¡g d¡pídH$ D$î_rH$aU _| `moJXmZ Zht XoVr h¡ ?   

  

  `h H$WZ {H$g {ejmemñÌr Zo {X`m ?  
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138. The correct distance – time graphs showing the motion of an object moving with a constant 
speed in linear motion are 

      

distance

time

distance

time

distance

time
(i) (ii) (iii)

di
st

an
ce

time
(iv)

 (A) (i) and (iii) both    (B) (ii) and (iv) both
 (C) (i) and (ii) both   (D) (iii) and (iv) both
  aoIr` J{V _| {Z`V Mmb go J{Verb {H$gr dñVw H$s J{V H$mo Xem©Zo dmbo ghr Xÿar-g_` J«m\$ h¢  

    

Xÿar

(i) (ii) (iii) (iv)
g_` g_`

Xÿar Xÿar Xÿar

g_` g_`

 (A) (i) d (iii) XmoZm|    (B) (ii) d (iv) XmoZm| 
 (C) (i) d (ii) XmoZm|    (D) (iii) d (iv) XmoZm| 

 139. Which waste is the best treated by recycling ?

 (A) Domestic Waste   (B) Agricultural Waste

 (C) Metallic Waste    (D) Medicinal Waste

  H$m¡Z-go An{eîQ> H$m nwZM©H«$U Ûmam CnMm[aV H$aZm g~go CÎm_ h¡ ?   

 (A) Kaoby An{eîQ>   (B) H¥${f` An{eîQ>

 (C) YmpËdH$ An{eîQ>    (D) {M{H$ËgH$s` An{eîQ>

 140. Which Vitamin is essential for blood clotting ? 
 (A) Vitamin A (B) Vitamin D (C) Vitamin E (D) Vitamin K

  é{Ya H$m WŠH$m O_mZo _| Amdí`H$ {dQ>m{_Z H$m¡Z-gm h¡ ?   

 (A) {dQ>m{_Z A (B) {dQ>m{_Z D (C) {dQ>m{_Z E (D) {dQ>m{_Z K

  aoIr` J{V _| {Z`V Mmb go J{Verb {H$gr dñVw H$s J{V H$mo Xem©Zo dmbo ghr Xÿar-g_` J«m\$ h¢  

  é{Ya H$m WŠH$m O_mZo _| Amdí`H$ {dQ>m{_Z H$m¡Z
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141. Mass of 0.1 mole N2 is 
 (A) 1.4 g (B) 0.14 g (C) 2.8 g (D) 0.014 g 
  0.1  _mob N2 H$m Ðì`_mZ h¡ 
 (A) 1.4 g (B) 0.14 g (C) 2.8 g (D) 0.014 g

142. Hormone that acts on the Uterine muscles during parturition
 (A) Prolactine (B) Thyroxine (C) Testosterone (D) Oxytocin
  àgd Ho$ Xm¡amZ J^m©e` noer`m| na H$m`© H$aZo dmbm hm°_m}Z h¡    

(A) àmob¡pŠQ>Z (B) Wm`am°pŠgZ  (C) Q>oñQ>mooñQ>oam°Z (D) Am°ŠgrQ>mo{gZ

143. Example of amphoteric oxide is 
 (A) Na2O (B) CO2 (C) Al2O3 (D) CaO

  C^`Y_u Am°ŠgmB‹S> H$m CXmhaU h¡ 

 (A) Na2O (B) CO2 (C) Al2O3 (D) CaO
144. How many decibel is safe noise level fi xed by the World Health Organisation for a city ?

 (A) 45 dB (B) 90 dB (C) 140 dB (D) 65 dB
  {díd ñdmñÏ` g§JR>Z (WHO) Zo EH$ eha Ho$ {bE {H$VZo S>ogr~b (dB) H$mo gwa{jV emoa ñVa

 V` {H$`m h¡ ?   
 (A) 45 dB (B) 90 dB (C) 140 dB (D) 65 dB

145. Merits of essay type examination is 
 (A) Freedom of thoughts (B) Absence of reliability and validity
 (C) Lack of remedial use (D) Limited representation
  {Z~ÝYmË_H$ narjm H$m JwU h¡   

(A) {dMmamo§ H$s ñdV§ÌVm   (B) {dídg{Z`Vm Ed§ d¡YVm H$m A^md
(C) CnMmamË_H$ Cn`moJ H$m A^md (D) gr{_V à{V{Z{YËd

146. Example of alkene is
 (A) C2H6 (B) C2H4 (C) C3H8 (D) C2H2

  > EoëH$sZ H$m CXmhaU h¡ 

 (A) C2H6 (B) C2H4 (C) C3H8 (D) C2H2
147. Presence of pneumatophore in root is an adaptation of 

 (A) Xerophyte (B) Halophyte (C) Hydrophyte (D) Mesophyte
  O‹S>m| _| Ý`y_oQ>m°\$moa H$m nm`m OmZm, AZwHy$bZ h¡   

(A) _éX²{^X (B) bdU_¥XmoX²{^X (C) ObmoX²{^X (D) g_oX²{^X

  C^`Y_u Am°ŠgmB‹S> H$m CXmhaU h¡ 

  > EoëH$sZ H$m CXmhaU h¡ 
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148. A car travels at a speed of 18 km/h for 10 minutes, subsequently it travels at a speed of 
36 km/h for 15 minutes, then the total distance covered by this car will be 

 (A) 3 km (B) 9 km (C) 12 km (D) 27 km
  EH$ H$ma 18 km/h H$s Mmb go 10 {_ZQ> MbVr h¡, BgHo$ níMmV² dh 36 km/h H$s Mmb go 15 {_ZQ> 

MbVr h¡, Vmo Bg H$ma Ûmam V` H$s JB© Hw$b Xÿar hmoJr    
 (A) 3 km (B) 9 km (C) 12 km (D) 27 km

149. The variety of wheat, resistance to Hillbunt disease is  
 (A) Pusa Shubhra   (B) IRRI
 (C) Pusa Sadabahar   (D) Himgiri
  Johÿ± _| {hb~§Q> amoJ Ho$ à{V à{VamoYH$ {H$ñ_ h¡   

(A) nygm ew^«m   (B) AmB© Ama Ama AmB©
(C) nygm gXm~hma   (D) {h_{Jar

150. Match the column X with the column Y :

Column X Column Y
 p. Time to prefer wearing dark coloured clothes i. night time
 q. Time of blowing of the sea breeze   ii. winters
 r. Time to prefer wearing light coloured clothes iii. day time
 s. Time of blowing of the land breeze  iv. summers
  The correct answer is
 (A) p – i, q – ii, r – iii, s – iv
 (B) p – ii, q – iii, r – i, s – iv
 (C) p – ii, q – iii, r – iv, s – i
 (D) p – iv, q – i, r – ii, s – iii

 H$m°b_ X H$m H$m°b_ Y go {_bmZ H$s{OE &
H$m°b_ X H$m°b_ Y

 p. Jhao a§J Ho$ H$n‹S>m| H$mo nhZZo H$mo dar`Vm XoZo H$m g_`  i. am{Ì H$m g_`
 q. g_wÐ g_ra Ho$ ~hZo H$m g_`  ii. g{X©`m§
 r. hëHo$ a§J Ho$ H$n‹S>mo§ H$mo nhZZo H$mo dar`Vm XoZo H$m g_` iii. {XZ H$m g_`
 s. Wb g_ra Ho$ ~hZo H$m g_` iv. J{_©`m§
  ghr CÎma h¡  
 (A) p – i, q – ii, r – iii, s – iv
 (B) p – ii, q – iii, r – i, s – iv
 (C) p – ii, q – iii, r – iv, s – i
 (D) p – iv, q – i, r – ii, s – iii

 p. 
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SECTION – IV(b)/ IÊS> – IV(b)
SOCIAL STUDIES/ gm_m{OH$ AÜ``Z

There are 60 questions in all in this section. The candidates who have selected this subject 
must answer all the questions.
Bg IÊS> _| Hw$b 60 àíZ h¢ & {OZ Aä`{W©̀ m| Zo Bg {df` H$m M`Z {H$`m h¡ CÝh| g^r àíZ H$aZm A{Zdm ©̀ h¢ &

 91. According to census 2011, the male literacy rate in Rajasthan was
 (A)  52.1 % (B) 67.06 % (C) 79.2% (D) 89%

   OZJUZm 2011 Ho$ AZwgma amOñWmZ _| nwéf gmjaVm Xa Wr 
 (A)  52.1 % (B) 67.06 % (C) 79.2% (D) 89%

 92. Who wrote the Chola period book ‘Kalingattuparani’ ?
 (A) Kamban (B) Tirutakkadevar (C) Jayangondar (D) Pulgendi

  Mmob`wJrZ ‘H$qbJQ²>Qw>namZr’ Zm_H$ J«§W {H$gZo {bIm ?
 (A) H$å~Z (B) {VéVŠH$Xoda (C) O`ÝJmoÝXma (D) nwbJopÝX

 93. “5E” instructional model was investigated by Roger Bybee for
 (A) Behaviourism   (B) Constructivism
 (C) Humanism   (D) Structuralism

  “5E” AZwXoeZmË_H$ à{Vê$n H$m àdV©Z amoOa ~mB©~r Ûmam _________ Ho$ {bE {H$`m J`m &
 (A) ì`dhmadmX   (B) aMZmË_H$dmX
 (C) _mZddmX   (D) g§aMZmdmX

 94. What does the National Curriculum Framework (NCF)–2005 emphasize in social science 
teaching ?

 (A) Memorization of facts
 (B) Connecting knowledge to life outside the school
 (C) Exclusive reliance on text book
 (D) Focus on rote learning methods

  amîQ´>r` nmR²>`M`m© H$s ê$naoIm (NCF)–2005 gm_m{OH$ {dkmZ {ejU _| {H$g na Omoa XoVr h¡ ? 
 (A) VÏ`m| H$mo H§$R>ñW H$aZo na
 (B) kmZ H$mo {dÚmb` Ho$ ~mha Ho$ OrdZ go Omo‹S>Zo na
 (C) nmR²>`nwñVH$m| na AË`{YH$ {Z^©aVm
 (D) aQ>Zo H$s {d{Y`m| na Ü`mZ

 (D) Focus on rote learning methods

  amîQ´>r` nmR²>`M`m© H$s ê$naoIm 
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95. The distance between two meridians (1 interval) at equator is
 (A)  109 km (B) 119 km (C) 55.4 km (D) 111 km
  ^y_Ü` aoIm na Xmo XoemÝVa aoImAm| (1 A§Vamb) Ho$ _Ü` H$s Xÿar h¡ 
 (A) 109 {H$_r (B) 119 {H$_r (C) 55.4 {H$_r (D) 111 {H$_r

96. The most favourable conditions for the cement industry are found in Rajasthan at
 (A)  Chittorgarh (B) Jaipur (C) Alwar (D) Barmer
  amOñWmZ _| gr_|Q> CÚmoJ Ho$ {bE gdm©{YH$ AZwHy$b n[apñW{V`m± nmB© OmVr h¡
 (A) {MÎmm¡‹S>J‹T> _| (B) O`nwa _| (C) Abda _| (D) ~m‹S>_oa _|

97. Which place was called the “Nursery of Bengal Army” during the British rule ?
 (A) Awadh (B) Delhi (C) Calcutta (D) Madras
  {~«{Q>e emgZH$mb _| ‘~§Jmb Am_u H$s nm¡Yembm§’ {H$g ñWmZ H$mo H$hm OmVm Wm ?

(A) AdY (B) {Xëbr (C) H$bH$Îmm (D) _Ðmg
98. The density of earth is

 (A)  4.5 (B) 5.5 (C) 6.5 (D) 7.5
  n¥Ïdr H$m KZËd h¡

 (A)  4.5 (B) 5.5 (C) 6.5 (D) 7.5
99. Which of the following is not the function of CIET (Central Institute of  

Educational Technology) ?
 (A) To design and produce media software materials, graphics and other programmes
 (B) To develop plans for the use of Information and Communication Technologies 

(ICTs) in education
 (C) To train the faculty of Institutes of advanced study in education/colleges of 

teacher education and district institutes of education and training in the use of 
educational technology in their teacher education programmes

 (D) Regulate the academic and technical programmes and activities of State 
Institutions of Educational Technology (SIET’s) set up by the Ministry of 
Education in States of India

  {ZåZ{b{IV _| go H$m¡Z-gm Ho$ÝÐr` e¡{jH$ àm¡Úmo{JH$s g§ñWmZ H$m H$m`© Zht h¡ ? 
(A) _r{S>`m gm°âQ>do`a gm_J«r, J«m{\$Šg Am¡a AÝ` H$m`©H«$_m| H$mo {S>OmBZ Am¡a CËnmXZ H$aZm
(B) {ejm _| gyMZm Ed§ g§Mma àm¡Úmo{JH$s (AmB©grQ>r) Ho$ Cn`moJ H$s `moOZmAm| H$mo V`ma H$aZm 

 (C) e¡{jH$ àm¡Úmo{J{H$ Ho$ Cn`moJ _| {ejm Ho$ Cƒ AÜ``Z g§ñWmZm|/AÜ`mnH$ {ejm _hm{dÚmb`m§o 
Am¡a {O„m {ejm Ed§ à{ejU g§ñWmZm| Ho$ g§»`mAm| H$mo CZHo$ AÜ`mnH$ {ejm H$m`©H«$_m| _| 
à{e{jV H$aZm

(D) ^maV Ho$ amÁ`m| _| {ejm _§Ìmb` Ûmam ñWm{nV amÁ` e¡{jH$ àm¡Úmo{JH$s g§ñWmZm| 
  (Eg.AmB©.B©.Q>r.) Ho$ e¡j{UH$ Am¡a VH$ZrH$s H$m`©H«$_m| Ed§ J{V{d{Y`m| H$s {ZJamZr H$aZm 

  {ZåZ{b{IV _| go H$m¡Z-gm Ho$ÝÐr` e¡{jH$ àm¡Úmo{JH$s g§ñWmZ H$m H$m`© Zht h¡ ? 
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100. Ghunghat, Gugadi, Footi, Bandra, Imali and Feteh Burj are related to which fort 
of Rajasthan ?

 (A) Mehrangarh (Jodhpur) (B) Taragarh (Ajmer)
 (C) Junagarh (Bikaner) (D) Kumbhalgarh (Rajsamand)

  Ky§KQ>, JyJ‹S>r, \y$Q>r, ~m±Xam, B_br Am¡a \$Voh ~wO© amOñWmZ Ho$ {H$g XþJ© go g§~§{YV h¢ ?

(A) _ohamZJ‹T> (OmoYnwa)   (B) VmamJ‹T> (AO_oa)
(C) OyZmJ‹T> (~rH$mZoa)   (D) Hw§$^bJ‹T> (amOg_§X) 

101. The scene of ‘Nar-narayan tapasya’ and ‘Gajendra Moksha’ has been depicted in 
 which temple of Gupta period ?

 (A) Dashavatara Temple of Devgarh
 (B) Shiva Temple of Bhumara
 (C) Vishnu Temple of Tigwan 
 (D) Parvati Temple of Nachana-Kuthar

  ‘Za-Zmam`U Vnñ`m§’ Am¡a ‘JOoÝÐ _moj’ H$m Ñí` JwßVH$mbrZ {H$g _§{Xa _| Xem©`m J`m h¢ ?

(A) XodJ‹T> H$m XemdVma _§{Xa 

(B) ^y_am H$m {ed _§{Xa

(C) {VJdm§ H$m {dîUw _§{Xa  

(D) ZMZm-Hw$R>ma H$m nmd©Vr _§{Xa

102. The direction of the Aravalli mountain range is
 (A)  South-West to South-East (B) South-West to North-East
 (C)  North-West to South-East (D) North-East to South-West

  Aamdbr nd©V_mbm H$s {Xem h¡

 (A) X{jU-npíM_ go X{jU-nyd© (B) X{jU-npíM_ go CÎma-nyd© 

 (C) CÎma-npíM_ go X{jU-nyd© (D) CÎma nyd© go X{jU-npíM_

103. When did the Gandhi-Irwin pact take place ?

(A) 1931 (B) 1921 (C) 1933 (D) 1935

  Jm§Yr-Ba{dZ g_Pm¡Vm H$~ hþAm ?

 (A) 1931 (B) 1921 (C) 1933 (D) 1935
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104. The illustrated text ‘Shravakpratikramansutrachoorni’ is related to which school of painting ?
 (A) Marwar school   (B) Hadoti school
 (C) Mewar school   (D) Dhundhad school

  ‘lmdH$à{VH«$_UgyÌMy{U©’ Zm_H$ {M{ÌV J«§W H$m g§~§Y {H$g {MÌH$bm e¡br go h¡ ? 
 (A) _madm‹S> e¡br   (B) hm‹S>m¡Vr e¡br

(C) _odm‹S> e¡br   (D) T>§yT>m‹S> e¡br

105. Under which Article of the Indian Constitution there is a provision for a Council 
of Ministers headed by the Prime Minister to aid and advise the President ?

 (A) 73(1) (B) 74(1) (C) 75(1) (D) 76(1)

  ^maVr` g§{dYmZ Ho$ {H$g AZwÀN>oX Ho$ AÝVJ©V amîQ´>n{V H$mo ghm`Vm Ed§ gbmh hoVw àYmZ_§Ìr Ho$ 
ZoV¥Ëd _| _§Ìrn[afX H$m àmdYmZ h¡ ?

 (A) 73(1) (B) 74(1) (C) 75(1) (D) 76(1)
106. Consider the following statements about Indus valley civilization :

 1. Harappa was the fi rst site to be discovered in this civilization.
 2. The fi rst director of the Archaeological Survey of India was John Marshall.
 3. Mesopotamian texts call meluhha the land of the Gods.
  Which of the statements given above is/are correct ?
 (A) Only 2  (B) 1, 2, 3 (C) Only 1 (D) 1, 3

  {gÝYw KmQ>r gä`Vm Ho$ ~mao _| {ZåZ{b{IV H$WZm| na {dMma H$s{OE :
1. Bg gä`Vm _| h‹S>ßnm g~go nhbo ImoOm J`m ñWb Wm &
2. ^maVr` nwamVmpËdH$ gd}jU Ho$ nhbo S>m`aoŠQ>a Om°Z _me©b Wo &
3. _ogmonmoQ>m{_`m Ho$ boI _obwhm H$mo XodVmAm| H$m Xoe H$hVo h¢ &

  Cn`w©ŠV H$WZm| _| go H$m¡Z-gm/go H$WZ ghr h¡/h¢ ?
 (A) Ho$db 2  (B) 1, 2, 3 (C) Ho$db 1 (D) 1, 3

107. Doldrums is located on

 (A)  North and South of the Equator
 (B)  North and South of the Tropic of Cancer
 (C)  North and South of the Tropic of Capricorn
 (D) North and South of the Arctic circle

  emÝV H${Q>~ÝY pñWV h¡
 (A) ^y_Ü` aoIm Ho$ CÎma d X{jU _|
 (B) H$H©$ aoIm Ho$ CÎma d X{jU _|

 (C) _H$a aoIm Ho$ CÎma d X{jU _|
 (D) AmH©${Q>H$ d¥Îm Ho$ CÎma d X{jU _|

  {gÝYw KmQ>r gä`Vm Ho$ ~mao _| {ZåZ{b{IV H$WZm| na {dMma H$s{OE :
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108. Beneshwar  Dham is located
 (A)  at the confl uence of Mahi, Som and Jakham
 (B) at the confl uence of Mahi, Banas and Som
 (C) at the confl uence of Banas, Som and Jakham
 (D) at the confl uence of Banas, Mahi and Jakham

  ~oUoída Ym_ pñWV h¡

 (A) _mhr, gmo_ d OmI_ Ho$ g§J_ na

 (B) _mhr, ~Zmg d gmo_ Ho$ g§J_ na

 (C) ~Zmg, gmo_ d OmI_ Ho$ g§J_ na

 (D) ~Zmg, _mhr d OmI_ Ho$ g§J_ na

109. Which one of the following pairs is not correctly matched ?

  Mahajanapada                 Town
 (A) Ashmak – Kampilya
 (B) Shursen – Mathura
 (C) Kuru – Indraprastha
 (D) Chedi – Shuktimati 

  {ZåZ{b{IV _| go H$m¡Z-gm EH$ `w½_ ghr gw_o{bV Zht h¢ ?

  _hmOZnX           ZJa

(A) Aí_H$ – H$mpånë`
(B) eyagoZ – _Wwam
(C) Hw$é – BÝÐàñW
(D) Mo{X – ewpŠV_{V

110. When was the “Pradhan Mantri Kaushal Vikas Yojana” started ?
 (A)  2013   (B) 2015 
 (C) 2017   (D) 2023

  “àYmZ_§Ìr H$m¡eb {dH$mg `moOZm” H$~ àmaå^ H$s JB© ?

 (A)  2013   (B) 2015 

 (C) 2017   (D) 2023
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111. Consider the following statements about Bhakti Movement :
 1. The philosophical view of Ramanuja is called Vishishtadvaita.
 2. The philosophical view of Vallabhacharya is called Shuddhadvaita.
 3. The philosophical view of Nimbarkacharya is called Dvaitwad.
  Which of the statements given above is/are true ?
 (A) Only 1 (B) Only 3 (C) 1, 2 (D) 1, 2, 3

  ^pŠV AmÝXmobZ Ho$ ~ma| _| {ZåZ{b{IV H$WZm| na {dMma H$s{OE :
1. am_mZwO Ho$ Xme©{ZH$ ÑpîQ>H$moU H$mo {d{eîQ>mÛ¡V H$hm OmVm h¡ &
2. dëb^mMm`© Ho$ Xme©{ZH$ ÑpîQ>H$moU H$mo ewÕmÛ¡V H$hm OmVm h¡ &
3. {Zå~mH$m©Mm`© Ho$ Xme©{ZH$ ÑpîQ>H$moU H$mo Û¡VdmX H$hm OmVm h¡ &

  Cn`w©ŠV H$WZm| _| go H$m¡Z-gm/go H$WZ ghr h¡/h¢ ?
 (A) Ho$db 1  (B) Ho$db 3 (C) 1, 2  (D) 1,2, 3

112. Major gypsum  producing district of Rajasthan is 
 (A)  Bhilwara (B) Udaipur (C) Ajmer (D) Bikaner

  amOñWmZ H$m à_wI {Oßg_ CËnmXH$ {Obm h¡ 
 (A) ^rbdm‹S>m (B) CX`nwa (C) AO_oa (D) ~rH$mZoa

113. To which ruler did Chandragupta II marry his daughter Prabhavathi Gupta ?
 (A) Rudrasen I   (B) Prithvisen I
 (C) Vindhyashakti II   (D) Rudrasen II

  MÝÐJwßV {ÛVr` Zo AnZr nwÌr à^mdVr JwßV H$m {ddmh {H$g emgH$ Ho$ gmW {H$`m Wm ?
(A) éÐgoZ àW_   (B) n¥ÏdrgoZ àW_
(C) {dÝÜ`epŠV {ÛVr`   (D) éÐgoZ {ÛVr`

114. Hunting dance of Rajasthan is related to
 (A) Sehariya (B) Garasiya (C) Kalbeliya (D) Bheel

  amOñWmZ H$m {eH$ma Z¥Ë` g§~§{YV h¡ 
(A) gh[a`m (B) Jam{g`m (C) H$mb~o{b`m (D) ^rb

115. According to the Indian Constitution the State legislature cannot make laws on  
which of the following subject ?

 (A) Police (B) Currency (C) Prison (D) Agriculture

  ^maVr` g§{dYmZ Ho$ AZwgma amÁ` H$s {dYm{`H$m {ZåZ _| go {H$g {df` na H$mZyZ {Z_m©U Zht H$a 
gH$Vr h¢ ?
(A) nw{bg (B) _wÐm (C) OobImZm (D) H¥${f

 1. The philosophical view of Ramanuja is called Vishishtadvaita.
 2. The philosophical view of Vallabhacharya is called Shuddhadvaita.
 3. The philosophical view of Nimbarkacharya is called Dvaitwad.

 According to the Indian Constitution the State legislature cannot make laws on  
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116. Which one is not the feature of toy based learning ?
 (A) Toys sparks creativity and imagination
 (B) Toys helps in multidisciplinary learning
 (C) Toys helps only in social-emotional development
 (D) Toys strengthen motor development

  {Ibm¡Zm AmYm[aV A{YJ_ H$s H$m¡Z-gr EH$ {deofVm Zht h¢ ? 
(A) {Ibm¡Zo gmoMZo VWm g¥OZmË_H$Vm H$m ñ\y$V© H$aVo h¡ 
(B) {Ibm¡Zo ~hþ{df`H$ A{YJ_ _| _XX H$aVo h¡
(C) {Ibm¡Zo Ho$db gm_m{OH$-g§doJmË_H$ {dH$mg _| _XX H$aVo h¡
(D) {Ibm¡Zo JË`mË_H$ {dH$mg H$mo gwÑ‹T> H$aVo h¡

117. Which Mughal emperor implemented the policy of ‘Sulh-i-Kul’ ?
 (A) Jahangir   (B) Akbar
 (C) Shahjahan   (D) Aurangzeb

  ‘gwbh-E-Hw$b’ H$s Zr{V H$mo {H$g _wJb emgH$ Zo bmJy H$s Wr ?
(A) Ohm±Jra   (B) AH$~a
(C) emhOhm±   (D) Am¡a§JOo~

118. Between whom was the ‘Battle of Bhutala’ fought
 (A)  Maharana Kumba and Mahmud Khilji I
 (B) Jaitra Singh and Iltutmish
 (C) Rana Sanga and Ibrahim lodhi
 (D) Maharana Pratap and Akbar

   ‘^yVmbm H$m `wÕ’ {H$gHo$ _Ü` b‹S>m J`m ?

 (A) _hmamUm Hw$å^m Am¡a _h_yX {IëOr I
 (B) O¡Ì qgh Am¡a BëVwV{_e

 (C) amUm gm§Jm Am¡a B~«m{h_ bmoXr

 (D) _hmamUm àVmn Am¡a AH$~a

119. With the help of which country Rourkela Steel Plant was established ?
 (A)  America (B) Russia (C) Britain (D) Germany

  amCaHo$bm BñnmV g§`§Ì {H$g Xoe H$s  ghm`Vm go ñWm{nV {H$`m J`m Wm ?
 (A) A_o[aH$m (B) ê$g (C) {~«Q>oZ (D) O_©Zr

  {Ibm¡Zm AmYm[aV A{YJ_ H$s H$m¡Z-gr EH$ {deofVm Zht h¢ ? 
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120. After the partition of India what was the number of actual members left in the  
Constituent Assembly of India ?

 (A) 389 (B) 299 (C) 294 (D) 278

  ^maV {d^mOZ Ho$ ~mX ^maV H$s g§{dYmZ g^m _| dmñV{dH$ gXñ`m| H$s g§»`m {H$VZr ah JB© ?

 (A) 389 (B) 299 (C) 294 (D) 278

121. How much domain of assessment and evaluation is included in Holistic progress card 
for foundational stage by PARAKH (NCERT) ?

 (A) 3 (B) 4 (C) 5 (D) 6
  naI (EZgrB©AmaQ>r) Ûmam \$mC§S>oeZb ñQ>oO Ho$ {dH${gV {H$ ò J ò g_J« àJ{V H$mS>© _| _mnZ Ed§ _yë`m§H$Z 

Ho$ {H$VZo Am`m_ em{_b {H$`o J`o h¡ ? 

(A) VrZ (B) Mma (C) nm±M (D) N>:

122. Who fi rst used the term ‘Rajasthani’ for the language of Rajasthan ?
 (A) George Thomas   (B) Colonel James Tod
 (C) Udyottan Suri   (D) George Abraham Grierson

  amOñWmZ H$s ^mfm Ho$ {bE ‘amOñWmZr’ eãX H$m gd©àW_ à`moJ {H$gZo {H$`m ?
(A) Om°O© Wm°_g   (B) H$Z©b Ooåg Q>m°S>
(C) CÚmoVZ gyar   (D) Om°O© A~«mh_ {J«`g©Z

123. Which of the following association was not founded by Pt. Harinarayan Sharma of Alwar ?
 (A)  Charkha Sangh   (B) Untouchability prevention  association
 (C) Valmiki Sangh   (D) Adivasi Sangh

  Abda Ho$ n§. h[aZmam`U e_m© Zo {ZåZm§{H$V _| go {H$g g§K H$s ñWmnZm Zht H$s Wr ?

 (A) MaIm g§K   (B) Añn¥í`Vm {ZdmaU g§K

 (C) dmë_r{H$ g§K   (D) Am{Xdmgr g§K

124. According to Article 137 among the following who has the right to review the decision 
of the Supreme Court ?

 (A) Prime Minister   (B) Speaker of Lok Sabha
 (C) Supreme Court   (D) Chairman of Rajyasabha

  AZwÀN>oX 137 Ho$ AZwgma CƒV_ Ý`m`mb` Ho$ {ZU©` H$s g_rjm H$aZo H$m A{YH$ma {ZåZ _| go 
{H$gH$mo h¡ ?

 (A) àYmZ_§Ìr   (B) bmoH$g^mÜ`j
(C) CÀMV_ Ý`m`mb`   (D) amÁ`g^m Ho$ g^mn{V

at was the number of actual members left in the  
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125. Which Veda contains the  Sukta “Ekam Sat Vipra Bahuda Vadanti” ?
 (A) Rigveda (B) Yajurveda (C) Samaveda (D) Atharvaveda
  “EH$_ gV² {dàm: ~hþYm dXpÝV”  gyŠV {H$g doX _| gpå_{bV h¡ ?
 (A) F$½doX (B) `Owd}X (C) gm_doX (D) AWd©doX

126. Which current is located in Pacifi c Ocean ?
 (A)  Alaska current   (B) Gulf stream current
 (C)  Labrador current   (D) Benguela current
  àem§V _hmgmJa _| H$m¡Z-gr Ymam pñWV h¡ ?
 (A) AbmñH$m Ymam   (B) Jë\$ ñQ´>r_ Ymam
 (C) bo~«mS>moa Ymam   (D) ~¢½`wbm Ymam

127. After the 91st Constitutional Amendment the number of members of the Council of 
Ministers at the centre can be what percentage of the total number of members of 
the Lok Sabha ? 

 (A) 10% (B) 12% (C) 18% (D) 15%
  91 d| g§{dYmZ g§emoYZ Ho$ ~mX Ho$ÝÐ _| _§Ìr n[afX Ho$ gXñ`m| H$s g§»`m bmoH$g^m Ho$ gXñ`m| H$s 

Hw$b g§»`m Ho$ {H$VZo à{VeV hmo gH$Vr h¡ ?
 (A) 10% (B) 12% (C) 18% (D) 15%

128. Mavath is
 (A)  Rain in summer season (B) Rain in rainy season
 (C)  Rain in winter season (D) Rain in autumn season
  _mdQ> h¡
 (A) J«rî_ F$Vw H$s dfm©   (B) dfm© F$Vw H$s dfm©
 (C) erV F$Vw H$s dfm©   (D) eaX F$Vw H$s dfm©

129. Which of the following is not a doctrine of Jainism ?
 (A) Panchanuvrata   (B) Syadwad
 (C) Pratitya-samutpad  (D) Anekantwad
  {ZåZ{b{IV _| go H$m¡Z-gm {gÕmÝV O¡Z Y_© H$m Zht h¢ ?

(A) n§MmUwd¥V   (B) ñ`mX²dmX
(C) àVrË`-g_wËnmX   (D) AZoH$mÝVdmX

130. Which of these is a key step in the preliminary stage of implementing collaborative 
learning ?

 (A) Final assessment   (B) Group formation
 (C) Planning the project (D) Students evaluation

  gh`moJmË_H$ A{YJ_ H$mo bmJy H$aZo Ho$ àma§{^H$ MaU _| BZ_| go H$m¡Z-gm EH$ _hËdnyU© H$X_ h¡ ?

(A) A§{V_ _mnZ   (B) g_yh {Z_m©U
(C) n[a`moOZm H$m `moOZm  (D) N>mÌ _yë`m§H$Z
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131. How many subjects were included in the 11th Schedule for Panchayati Raj by the 
 73rd Constitutional Amendment ?

 (A) 25 (B) 28 (C) 31 (D) 29

  73 d| g§{dYmZ g§emoYZ Ûmam n§Mm`Vr amO hoVw 11dt AZwgyMr _| {H$VZo {df` em{_b {H$`o J`o ?
 (A) 25 (B) 28 (C) 31 (D) 29

132. Which Peasant Movement of Rajasthan was led by Bhoji Lambardar ?
 (A)  Alwar Peasant Movement (B) Meo Peasant Movement
 (C) Bharatpur Peasant Movement (D) Begun Peasant Movement

  amOñWmZ Ho$ {H$g {H$gmZ AmÝXmobZ H$m ZoV¥Ëd ^moOr bå~aXma Zo {H$`m ?

 (A) Abda {H$gmZ AmÝXmobZ (B) _od {H$gmZ AmÝXmobZ

 (C) ^aVnwa {H$gmZ AmÝXmobZ (D) ~oJy§ {H$gmZ AmÝXmobZ

133. According to Article 334(a) how many seats are reserved for scheduled tribes in the 
Lok Sabha (till December 2024) ?

 (A) 47 (B) 84 (C) 53 (D) 131

  bmoH$g^m _| AZwÀN>oX 334(E) Ho$ AZwgma AZwgy{MV OZOm{V hoVw {H$VZo ñWmZ Ama{jV h¡  
  ({Xgå~a 2024 VH$) ?
 (A) 47 (B) 84 (C) 53 (D) 131

134. Which of the following is not the learning outcomes of social science at upper primary 
classes/stage ?

 (A) Students distinguishes between stars, planets and sub-planets
 (B) Examines critically the superstitions related to eclipses
 (C) Reasons and factors leading to diversity in flora and fauna e.g. climate, 

landforms etc.
 (D) Recognises and describes diff erent physical features, types of forests, seasons etc.
  {ZåZ{b{IV _| go H$m¡Z-gm CÀM àmW{_H$ H$jmAm|/ñVa na gm_m{OH$ {dkmZ H$mo grIZo H$m à{V\$b 

Zht h¡ ? 
(A) {dÚmWu Vmam|, J«hm| Ed§ CnJ«hm| _| A§Va H$aVo h¡
(B) J«hU go g§~§{YV A§Y{dídmgm| H$mo VH©$nyU© ê$n go naIVo h¡
(C) {d{^ÝZ Obdm`w Ed§ ñWbê$nm| _| nm`o OmZo dmbo nmXnm| Ed§ O§VwAm| H$s {d{^ÝZVmAm| Ho$ H$maUm| 

H$mo ~VmVo h¡
(D) {d{^ÝZ ^m¡{VH$ {deofVmAm|, dZm| Ho$ àH$ma, _m¡g_ Am{X H$mo nhMmZVm h¡ Am¡a CZH$m dU©Z H$aVm h¡

  {ZåZ{b{IV _| go H$m¡Z-gm CÀM àmW{_H$ H$jmAm|/ñVa na gm_m{OH$ {dkmZ H$mo grIZo H$m à{V\$b 
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135. Which one of the following pairs is not correctly matched ?
  Author                                 Text

(A) Dandin – Dashkumarcharit
(B) Vishakhdutt – Devichandraguptam
(C) Kalidas – Kumar Sambhav
(D) Siddhasen – Abhidhammavatara 

  {ZåZ{b{IV _| go H$m¡Z-gm EH$ `w½_ ghr gw_o{bV Zht h¢ ?
  boIH$                                       J«ÝW

(A) XpÊS>Z – XeHw$_maM[aV

(B) {demIXÎm – XodrMÝÐJwßV§

(C) H$m{bXmg – Hw$_ma gå^d

(D) {gÕgoZ – A{^Yå_mdVma

136. Which of the following term refers to “QR Code embedded text books” ?
 (A) Energised Text Books (ETBs) (B) Donated Text Book 
 (C) Teaching aids   (D) Flip Books

  {ZåZ{b{IV _| go H$m¡Z-gm nm[a^m{fH$ eãX “Š`y Ama H$moS> `wŠV nmR²>`nwñVH$m|” Ho$ {bE à`wŠV 
hmoVm h¡ ?
(A) D${O©V nmR²>`nwñVH|$   (B) XmZ H$s JB© nmR²>`nwñVH|$
(C) {ejU ghm`H$ gm_J«r (D) pâbn nmR²>`nwñVH|$

137. The most destructive earthquake wave is
 (A)  P wave (B) S wave (C) L wave (D) P* wave

  gdm©{YH$ {dZmeH$mar ^yH§$n Va§J h¡
 (A) nr Va§J (B) Eg Va§J (C) Eb Va§J (D) nr* Va§J

138. Which of the following Fundamental Rights fullfills ‘Child Protection and Child Rights’ ?
 (A) Right Against Exploitation (B) Right to Equality
 (C) Right to Religious Freedom (D) Cultural and Educational Rights

  {ZåZ _| go H$m¡Z-gm _m¡{bH$ A{YH$ma ‘~mb g§ajU Ed§ ~mb A{YH$ma’ H$s ny{V© H$aVm h¡ ?

(A) emofU Ho$ {déÕ A{YH$ma (B) g_Vm H$m A{YH$ma

(C) Ym{_©H$ ñdV§ÌVm H$m A{YH$ma (D) gm§ñH¥${VH$ Am¡a e¡{jH$ A{YH$ma
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139. Why are interdisciplinary approaches important in social science teaching ?
 (A) To enhance understanding of diff erent subjects in isolation
 (B) To link historical events with geographical context
 (C) To limit learning to specific fields of study 
 (D) To focus solely on text book knowledge

  gm_m{OH$ {dkmZ {ejU _| A§V: {df`H$ ÑpîQ>H$moU Š`m| _hËdnyU© h¡ ? 

(A) EH$m§V _| {d{^Þ {df`m| H$mo g_PZo H$s j_Vm H$mo ~‹T>mZo Ho$ {bE
(B) Eo{Vhm{gH$ KQ>ZmAm| H$mo ^m¡Jmo{bH$ g§X^m] go Omo‹S>Zo Ho$ {bE
(C) AÜ``Z H$mo {d{eîQ> joÌm| VH$ gr{_V H$aZo Ho$ {bE
(D) Ho$db nmR²>`nwñVH$ na Ü`mZ Ho$pÝÐV H$aZo Ho$ {bE

140. Dry farming is done in India
 (A)  in less than 75 cm annual rainfall region
 (B) in 75 to 100 cm annual rainfall region
 (C)  in 100 to 110 cm annual rainfall region
 (D) in 110 to 140 cm annual rainfall region

  ^maV _| ewîH$ IoVr H$s OmVr h¡
 (A) 75 go_r go H$_ dm{f©H$ dfm© dmbo joÌ _|
 (B) 75 go 100 go_r dm{f©H$ dfm© dmbo joÌ _|
 (C) 100 go 110 go_r dm{f©H$ dfm© dmbo joÌ _|
 (D) 110 go 140 go_r dm{f©H$ dfm© dmbo joÌ _|

141. Where did Gautam Buddha give his fi rst sermon ?
 (A) Gaya   (B) Sarnath 
 (C) Kushinagar   (D) lumbanivan
  Jm¡V_ ~wÕ Zo àW_ CnXoe H$hm± {X`m Wm ?

(A) J`m   (B) gmaZmW
(C) Hw$erZJa   (D) bwå~ZrdZ

142. On the recommendation of which of the following committee was Jaipur declared the 
Capital of Rajasthan ?

 (A)  P. Satyanarayan Rao Committee (B)  Dr. Shankarrao Dev Committee
 (C) V. P. Menon Committee (D) K. M. Munshi Committee

  {ZåZm§{H$V _| go {H$g g{_{V H$s {g\$m[ae na O`nwa H$mo amOñWmZ H$s amOYmZr ~Zm`m J`m ?
 (A) nr. gË`Zmam`U amd g{_{V (B) S>m°. e§H$aamd Xod g{_{V
 (C) dr. nr. _oZZ g{_{V  (D) Ho$. E_. _w§er g{_{V

  
 (A) 75 
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143. All types of topics and learning experiences may be properly provided through  
the application of

 (A) Project method   (B) Survey method
 (C) Source method   (D) Discovery method
  g^r àH$ma Ho$ àH$aUm| VWm A{YJ_ AZw^dm| H$mo {H$g AZwà`moJ Ho$ Ûmam C{MV ê$n go àXmZ {H$`m 

Om gH$Vm h¡ ? 
(A) à`moOZm {d{Y   (B) gd}jU {d{Y 
(C) òmoV {d{Y   (D) ImoO {d{Y

144. When did the ‘Protection of  Women from Domestic Violence Act’ pass by Parliament 
of India ?

 (A) 2002 (B) 2004 (C) 2005 (D) 2008

  ^maVr` g§gX Ûmam ‘Kaoby qhgm go _{hbm gwajm H$mZyZ’ H$~ nm[aV {H$`m J`m ?
 (A) 2002 (B) 2004 (C) 2005 (D) 2008

145. Who among the following Saint was born in Ahmedabad ?
 (A) Laldas (B) Haridas (C) Dadudayal (D) Mavji

  {ZåZ{b{IV _| go {H$g g§V H$m OÝ_ Ah_Xm~mX _| hþAm ? 

(A) bmbXmg (B) h[aXmg (C) XmXÿX`mb (D) _mdOr

146. The area situated in the foot hills of Shivalik mountain range is called
 (A)  Khadar region   (B) Bangar region
 (C)  Tarai region   (D) Bhabar region

  {edm{bH$ nd©V ûm¥§Ibm H$s nd©VnXr` joÌ _| pñWV ^mJ H$hbmVm h¡ 
 (A) ImXa àXoe   (B) ~m§Ja àXoe 
 (C) VamB© àXoe   (D) ^m~a àXoe

147. In which rock edict of Ashoka is there a mention of the ‘Victory of  Dhamma’ in his 
 distant regions ?

 (A) Seventh rock edict  (B) Thirteenth rock edict
 (C) Fifth rock edict   (D) Eighth rock edict

  AemoH$ Ho$ {H$g {ebmboI _| CgHo$ gwXÿa àXoem| _| ‘Yå_ {dO`’ H$m CëboI {_bVm h¡ ?

(A) gmVd| {ebmboI _|   (B) Voahd| {ebmboI _|

(C) nm±Mdo§ {ebmboI _|   (D) AmR>d| {ebmboI _|

  g^r àH$ma Ho$ àH$aUm| VWm A{YJ_ AZw^dm| H$mo {H$g AZwà`moJ Ho$ Ûmam C{MV ê$n go àXmZ {H$`m 
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148. Which pair is not correctly match ?
  Princely State  The Princely ruler at the time of the 1857 revolution
 (A) Bikaner  – Sardar Singh
 (B) Jodhpur – Takhat Singh
 (C) Pratapgarh – Dalpat Singh
 (D) Jhalawar – Udai Singh

  {ZåZm§{H$V _| go H$m¡Z-gm `w½_ gw_o{bV Zht h¡ ? 
 [a`mgV 1857 H$s H«$m§{V Ho$ g_` [a`mgVr emgH$

(A) ~rH$mZoa – gaXma qgh 
(B) OmoYnwa – V»V qgh
(C) àVmnJ‹T> – XbnV qgh
(D) Pmbmdm‹S>  – CX` qgh

149. Which of the following Amendments was made by the 61st Constitutional Amendment 
in India ?

 (A) Preventing defection (B) Making voting age 18 year
 (C) Retirement age of judges (D) Reservation in jobs

  ^maV _| 61d| g§{dYmZ g§emoYZ Ûmam {ZåZ{b{IV _| go H$m¡Z-gm g§emoYZ {H$`m J`m Wm ?
(A) Xb~Xb H$mo amoH$Zm   (B) _Vm{YH$ma H$s Am`w 18 df© H$aZm
(C) Ý`m`mYrem| H$s godm{Zd¥{Îm H$s Am`w (D) Zm¡H$[a`m| _| AmajU

150. Consider the following statements about the administration of the Mauryan period :
 1. ‘Kushilan’ was associated with judiciary.
 2. A unit of 100 villages was called ‘Sthaniya’.
 3. The ‘Sannidhata’ was the treasurer of the State.
  Which of the statements given above is/are true ?
 (A) 1, 2, 3   (B) Only 3 
 (C) 1, 3   (D) Only 1

  _m¡`© H$mb Ho$ àemgZ Ho$ ~ma| _| {ZåZ{b{IV H$WZm| na {dMma H$s{OE :
1. ‘Hw$erbZ’ H$m gå~§Y Ý`m`mb` go Wm &
2. 100 J«m_m| H$s BH$mB© H$mo ‘ñWmZr`’ H$hm OmVm Wm &
3. ‘gpÝZYmVm’ amÁ` H$m H$mofmÜ`j Wm &

  Cn`w©ŠV H$WZm| _| go H$m¡Z-gm/go H$WZ ghr h¡/h¢ ?
 (A) 1, 2, 3   (B) Ho$db 3 
 (C) 1, 3   (D) Ho$db 1

  {ZåZm§{H$V _| go H$m¡Z-gm `w½_ gw_o{bV Zht h¡ ? 
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IMPORTANT INSTRUCTIONS / _hÎdnyU© {ZX}e
(Read carefully and comply / Ü`mZ  go  n‹T>|  Am¡a  nmbZ  H$a|)

1.	 In Section II (Language-I), a candidate has to attempt the questions of the language which the candidate has selected as Language-I in the Online Application Form.
	 IÊS> II (^mfm-I) _| Cgr ^mfm Ho$ àíZm| H$mo hb H$aZm A{Zdm ©̀ h¡ {Og ^mfm H$m M`Z Aä`Wu Zo ^mfm-I Ho$ ê$n _| Am°ZbmBZ AmdoXZ-nÌ _| {H$`m h¡ &
2.	 In Section III (Language-II), a candidate has to attempt the questions of the language which the candidate has selected as Language-II in the Online Application Form. The language-II 

will be different from Language-I.
	 IÊS> III (^mfm-II) _| Cgr ^mfm Ho$ àíZm| H$mo hb H$aZm A{Zdm ©̀ h¡ {Og ^mfm H$m M`Z Aä`Wu Zo ^mfm-II Ho$ ê$n _| Am°ZbmBZ AmdoXZ-nÌ _| {H$`m h¡ & ^mfm-I go ^mfm-II {^ÝZ hmoJr &
3.	 The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place in the OMR Answer Sheet. Your OMR Answer 

Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not Question Booklet Number.
	 Aä`Wu gw{ZpíMV H$a| {H$ OMR AmÝga erQ> _| {ZYm©[aV ñWmZ na àíZ-nwpñVH$m grarO H$moS> Ed§ {eâQ> H«$_m§H$ ghr ^am h¡ & AmnH$s OMR AmÝga erQ> H$m _yë`m§H$Z àíZ-nwpñVH$m H«$_m§H$ 

na Zht ~pëH$ àíZ-nwpñVH$m grarO H$moS> Ed§ {eâQ> H«$_m§H$ Ho$ AmYma na {H$`m Om`oJm &
4.	 The  candidate has to answer of that subject in Section (IV a) Mathematics and Science or (IV b) Social Studies as selected by the candidate in the Online Application Form.
	 If a candidate answers the questions of the language or subject other than selected in the Online Application Form, the candidate shall be personally responsible for it and it would be treated as wrong.
	 Aä`Wu H$mo Bg àíZ-nÌ Ho$ IÊS> (IV a) J{UV Ed§ {dkmZ `m (IV b) gm_m{OH$ AÜ``Z _| Cgr {df` Ho$ àíZm| H$mo hb H$aZm h¡, {Og {df` H$m M`Z Aä`Wu Zo Am°ZbmBZ AmdoXZ-nÌ _| {H$̀ m h¡ &
	 `{X Aä`Wu Am°ZbmBZ AmdoXZ-nÌ _| M`{ZV ^mfm `m {df` Ho$ àíZm| H$mo hb Z H$aHo$ AÝ` {df` Ho$ àíZm| H$mo hb H$aVm h¡ Vmo dh Aä`Wu H$s ñd §̀ H$s {Oå_oXmar hmoJr VWm JbV _mZm Om òJm &
1.	 Read complete instructions carefully and fill the details from Sl. No. 1 to 9 in the OMR Answer Sheet and Sl. No. 1 to 4 in the Question Booklet. If you fail to fill the details 

and sign as instructed, you will be personally responsible for the consequences arising during scanning of your OMR Answer Sheet.
	 {ZX}em| H$mo nyU© ê$n go Ü`mZnyd©H$ n‹T>| Am¡a H«$_m§H$ 1 go 9 VH$ OMR AmÝga erQ> _| Ed§ H«$_m§H$ 1 go 4 VH$ àíZ-nwpñVH$m (~wH$boQ>) _| {ddaUm| H$mo ^a| & `{X Amn JbV VarHo$ go {ddaU 

^aVo `m hñVmja H$aVo h¢ Vmo OMR AmÝga erQ> H$s ñH¡$qZJ Ho$ \$bñdê$n hmoZo dmbo n[aUm_m| Ho$ à{V Amn ñd`§ CÎmaXm`r hm|Jo &
2.	 The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Question Booklet, only then the candidates will open the seal of the  

Question Booklet. Check whether the Question Booklet contains 150 questions starting from Page No. 3 to 90. The Shift Number required in OMR Answer Sheet will be 
as per admit card issued to the candidate and also mentioned on the top of the Question Booklet.

	 àíZ-nwpñVH$m _| 96 n¥îR> Ed§ 150 àíZ h¢ & Aä`Wu {ZX}e {X ò OmZo Ho$ CnamÝV hr àíZ-nwpñVH$m H$s grb Imob|Jo & `h gw{ZpíMV H$a b| {H$ àíZ-nwpñVH$m _| 150 àíZ h¢ Omo {H$ n¥îR> g§»`m 3 go àmaå^ 
hmoH$a 90 VH$ h¢ & OMR AmÝga erQ> na {eâQ> Zå~a Aä`Wu H$mo Omar {H$ ò J ò àdoe-nÌ Ho$ AZwgma A§{H$V H$aZm h¡ Ed§ Omo àíZ-nwpñVH$m Ho$ D$nar ^mJ na ^r A§{H$V {H$`m hþAm h¡ &

3.	 All questions are of MCQ (Multiple Choice Questions) type. There is only one correct answer to each question carrying one mark. No marks will be deducted for 
wrong answers.

	 g^r àíZ ~hþ{dH$ënr` àH$ma Ho$ h¢ & àË`oH$ àíZ H$m EH$ {dH$ën hr ghr h¡ & àË`oH$ àíZ Ho$ {bE {ZYm©[aV A§H$ EH$ h¡ & JbV Odm~ Ho$ {bE H$moB© A§H$ H$mQ>o Zht Om`|Jo &
4.	 There will be five options (A, B, C, D, E) for each question in the answer sheet but there will be four options A, B, C, D for each question in the question paper. Candidates have 

to choose the correct option from these four options and mark the corresponding circle blue/black in the answer sheet. Once darkened, changes are not permitted. Modified 
mark will not be accepted and the answer will be treated wrong. If a candidate does not want to answer a question, he/she should blue/black the circle of the fifth option E on 
the answer sheet. If none of the five options given in the answer sheet is circled blue/black, 1/3

rd of the marks for such question will be deducted. If a candidate does not mark 
any of the five options in more than 10 percent of the total questions, he/she will be considered disqualified.

	 CÎma nÌH$ _| àË òH$ àíZ Ho$ {bE nm±M {dH$ën (A, B, C, D, E) hm|Jo {H$ÝVw àíZ nÌ _| àË òH$ àíZ hoVw Mma {dH$ën A, B, C, D hm|Jo & Aä`{W©̀ m| H$mo BZ Mma {dH$ënm| _| go ghr {dH$ën H$m M`Z H$a 
CÎma nÌH$ _| g§~§{YV Jmobo H$mo Zrbm/H$mbm H$aZm h¡ & EH$ ~ma a§Jo hþE Jmobo H$mo ~XbZo H$s AZw_{V Zht h¡ & ~Xbm hþAm {ZemZ ñdrH$ma Zht hmoJm VWm CÎma JbV _mZm OmdoJm & `{X Aä`Wu {H$gr àíZ 
H$m CÎma Zht XoZm MmhVm h¡, Vmo CÎma nÌH$ Ho$ nm±Mdo {dH$ën E H$m Jmobm Zrbm/H$mbm H$a| & `{X CÎma nÌH$ _| {X ò J ò nm±M {dH$ënm| _| go {H$gr H$m ^r Jmobm Zrbm/H$mbm Zht {H$`m OmVm h¡, Vmo Eogo 
àíZ Ho$ {bE àíZ A§H$ H$m 1/3 ^mJ H$mQ>m OmdoJm & `{X Aä`Wu Hw$b àíZm| Ho$ 10 à{VeV go A{YH$ àíZm| _| nm±M {dH$ënm| _| go H$moB© ^r {dH$ën A§{H$V Zht H$aVm h¡, Vmo Cgo A`mo½` _mZm OmdoJm &

5.	 Bubble of correct answer of the question should be darken completely as shown below :
	 àíZ Ho$ ghr CÎma Ho$ Jmobo H$mo ZrMo Xem©`o AZwgma nyam a§Jo &

	
A	 B	 C	 D E

Wrong / JbV

A	 B	 C	 D E
Wrong / JbV

A	 B	 C	 D E
Wrong / JbV

A	 B	 C	 D E
Wrong / JbV

A	 B	 C	 D E
Correct / ghr


6.	 All questions other than language questions of Sections II and III shall be bilingual.
	 àíZ-nÌ Ho$ ^mfm gå~pÝYV IÊS> II Ed§ III Ho$ àíZm| Ho$ A{V[aŠV eof g^r IÊS>m| Ho$ àíZ {Û^mfr` hm|Jo &
7.	 In any event of any mistake in any question/s, candidates will not be penalized. However no corrections will be made in question/s during the examination.
	 {H$gr àíZ _| {H$gr Ìw{Q> Ho$ {b`o Aä`Wu H$mo {H$gr àH$ma H$m ZwH$gmZ Zht hmoJm & narjm H$s Ad{Y _| àíZm| _| {H$gr àH$ma H$m g§emoYZ Zht H$adm`m Om`oJm &
8.	 Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Question Booklet. Do not tear it off from the Question Booklet.  

No additional paper shall be provided.
	 {H$gr àH$ma Ho$ a\$ H$m ©̀ hoVw àíZ-nwpñVH$m Ho$ AÝV _| OJh Xr JB© h¡ & Bgo àíZ-nwpñVH$m go Zht \$m‹S>| & {H$gr àH$ma H$m A{V[aŠV H$mJµO CnbãY Zht H$adm`m Om òJm &
9.	 Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary, Bluetooth, Microphone or any other electronic item/instrument etc. is not allowed. Their use 

will result in disqualification.
	 bm°J Q>o~b, H¡$ëŠ ẁboQ>a, ñbmB©S> ê$b, _mo~mB©b \$moZ, noOa, {S>{OQ>b S>m`ar, ãë ỳQy>W, _mBH«$mo\$moZ `m {H$gr AÝ` àH$ma H$m BboŠQ́>m{ZH$ dñVw/CnH$aU H$m à`moJ d{O©V h¡ & BZHo$ Cn`moJ na narjm 

go A`mo½` Kmo{fV {H$`m Om gH$Vm h¡ &
10.	 OMR Answer Sheet will be provided along with question Booklet separately.
	 àíZ-nwpñVH$m Ho$ gmW OMR AmÝga erQ> àXmZ H$s Om`oJr &

11.	 The Question Booklet will be issued to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR Answer Sheet. The 
Question Booklet seal shall be opened 5 minutes before the start of examination and the candidate must fill 1 to 4 entries correctly on the Question Booklet. After opening 
the Question Booklet, ensure that any page/question is not missing/not printed/torn/repeated. In case, you find any defect anywhere in the Question Booklet, immediately 
inform the invigilator and get it replaced within 5 minutes by the invigilator. 

	 Aä`Wu H$mo àíZ-nwpñVH$m narjm Amaå^ hmoZo Ho$ 10 {_ZQ> nyd© Xr OmdoJr & Aä`Wu Amdí`H$ ê$n go OMR AmÝga erQ> _| g^r à{dpîQ>̀ m| H$mo ghr àH$ma go ^a| & àíZ-nwpñVH$m H$s grb narjm 
Amaå^ Ho$ 5 {_ZQ> nyd© Imob| VWm àíZ-nwpñVH$m Ho$ H«$_ g§»`m 1 go 4 H$s à{dpîQ>̀ m| H$mo ghr àH$ma go ^a| & àíZ-nwpñVH$m ImobZo Ho$ níMmV² Aä`Wu VËH$mb `h gw{ZpíMV H$a| {H$ Cg_| {ZYm©[aV 
g_ñV n¥îR> h¡/H$moB© àíZ Ny>Q>m Vmo Zht h¡/N>nmB© nyU© h¡/H$mJµO \$Q>m Vmo Zht h¡ `m H$moB© n¥îR> Xþ~mam Ow‹S> J`m h¡ & `{X àíZ-nwpñVH$m _| Bg àH$ma H$s H$moB© Ìw{Q> nmB© OmVr h¡ Vmo VËH$mb drjH$ H$mo 
gy{MV H$a| VWm 5 {_ZQ> Ho$ ^rVa drjH$ go AnZr àíZ-nwpñVH$m ~Xbdm b| & 

	 12.	 Write your Name, Exam Centre Code, Signature, Roll No., Question Booklet Series Code, Shift Number and Question Booklet Number in the space provided in the 
Question Booklet as well as in the OMR Answer Sheet.

		  àíZ-nwpñVH$m Ed§ OMR AmÝga erQ> na {ZYm©[aV ñWmZ na Zm_, narjm Ho$ÝÐ H$m H$moS>, hñVmja, amob Z§., àíZ-nwpñVH$m grarO H$moS>, {eâQ> H«$_m§H$ Ed§ àíZ-nwpñVH$m H«$_m§H$ ^a| &
	 13.	 OMR Answer Sheet is designed for computer evaluation. If you do not follow the instructions given above and at the backside of the OMR Answer Sheet, it may make 

evaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of the candidate only.
		  OMR AmÝga erQ> H$mo H$åß`yQ>a Ûmam _yë`m§H$Z Ho$ {b`o ~Zm`m J`m h¡ & `{X Amn Cn`w©ŠV Ed§ OMR AmÝga erQ> Ho$ {nN>bo n¥îR> na {X`o J`o {ZX}em| H$m nmbZ Zht H$aVo, Vmo H$åß`yQ>a Ûmam 

AmnH$m _yë`m§H$Z H${R>Z hmo Om`oJm & Bg H$maU go Aä`Wu H$mo hmoZo dmbo ZwH$gmZ H$s {Oå_oXmar CgH$s ñd`§ H$s hmoJr &
	 14.	 Warning Bell will ring at 5 minutes before closer of examination and the last long bell will ring at closer of examination.  No candidate should leave the examination hall before 

the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the left side. Candidate should detach carefully the Original Copy from the Candidate’s 
Copy (Duplicate) so that the Original Copy is not mutilated in any way. Candidate should handover the Original OMR Copy and Question Booklet to the invigilator before 
leaving the examination hall. Candidate can carry only the Candidate’s OMR copy with him/her. Question Booklet is not allowed to be taken by the candidate.

		  narjm g_mpßV Ho$ 5 {_ZQ> nyd© MoVmdZr K§Q>r ~OoJr Ed§ ApÝV_ bå~r K§Q>r narjm g_mpßV na ~OoJr & H$moB© Aä`Wu ApÝV_ K§Q>r ~OZo Ho$ nyd© narjm H$j go ~mha Zht Om gHo$Jm & OMR 
AmÝga erQ> H$m~©Z a{hV VWm AZw{b{n g{hV h¡ CgHo$ ~m`t Va\$ na\$moaoeZ {H$`m hþAm h¡ & Aä`Wu gmdYmZr go Aä`Wu H$s à{V (AZw{b{n) go _yb à{V H$mo Eogo AbJ H$a| Vm{H$ {H$gr ^r 
VarHo$ go _yb à{V H$mo H$moB© hm{Z Z nhþ±Mo & narjm H$j N>mo‹S>Zo Ho$ nyd© Aä`Wu OMR H$s _yb à{V Ed§ àíZ-nwpñVH$m drjH$ H$mo gm¢n X§o & Aä`Wu Ho$db AnZr OMR H$s à{V hr AnZo gmW 
bo Om gH|$Jo & àíZ-nwpñVH$m Aä`Wu AnZo gmW Zht bo Om gH|$Jo &
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